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20 |B — 14 BERE PH 4R 2 — — 0.18 0.14
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23 |E - 9| EEFAAYHTIT B { 2 — — 0.10 0.07
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8 |B - 7 fa S = a1l 1 — - 1.10 0.11
9 [B - 8 FREAEE il 1 — — 0.11 0.07
10 |[B - 9 FRSHE a4l 1 - — 0.10 0.08
i1 |B - 10 A E Bl 1 — — 0.10 0.08
12 |B - 11 g il 1 = — 0.10 0.08
13 |B - 12 HSsmE Fa il 1 - — 0.10 0.09
14 |B - 13 BEE Fa{dl 1 — — 0.12 0.10
15 |B - 13 BEE g fal i = — 0.19 0.13
16 |C - 1 = B[] 1 — — 0.10 0.09
17 |Cc - 13 HIE=E Eafl 1 = — 0.11 0.10
18 |D - 1 il = A4l 1 — — 0.10 0.09
19 |D - RE=E At {1 1 — — 0.11 0.09
20 |D - 13 HEE B2l 1 — — 0.10 0.07
21 [E - 1 S AL {1 1 — — 0.11 0.08
22 |E — 14 fRRE Fafl 1 — — 0.16 0.14
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5 (L - 2 EAREEYEE [ i — — 0.10 0.09
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52 (H - 1 SRR T ALl 1 — — 1.05 0.1t
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41T - 1 L Loy Je 4l 1 — — 0.12 0.08
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7% 1T - 2 BMAOE FEfl 1 - - 0.09 0.06
77U - 1 BRI E k] 1 - — 012 0.09
78 tU - 2 Bmas o el 1 — — 0.09 0.06
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7 [N - 2 EV FHE= 1-3 — — 0.10 0.08
8 |0 - 1 HNRTE FH= 1-3 — — 0.11 0.10
9 |0 - 2 DS/PS FER 1:3 — — 0.11 0.10
10 |P — 1 HNRUTE FHE 1-3 — — 0.11 0.09
11 [P - 2 DS/PS FES 1:3 — — 0.13 0.10
12 1@ - 1 HMRUTE FHER 1-3 — — 0.11 0.09
13 [@ - 2 EARTE THER 1-3 — — 0.09 0.06
14 [R - 1 EHMNRTE FHES 1-3 — — 0.09 0.07
15 |[R - 2 SEAARTE FER 1-3 — — 0.11 0.09
16 |[S - {1 SENRTE THER 1-3 — — 0.08 0.07
17 |s - 2 HRRTE SHES 1+3 — — 0.09 0.08
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13 |0 - 1 2L T FHES 1+3 — — 0.11 0.09
14 |0 - 2 DS/PS FHER 1-3 — — 0.11 0.09
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16 [N - 2 EV FHER 1-3 — — 0.10 0.08
17 |M - 1 2MLER T FH= 1-3 — — 0.11 0.09
18 |M - 2 FEARSER = FEE 1-3 — — 0.12 0.08
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42 1D - 4|FEEERBHANVA—IUT FHR 143 — — 0.12 0.09
43 |c -~ 4|FEEREROVH—TUT FHER 1-3 — — 0.11 0.08
4 |p - 4|deEBERBHEOVE—TVT EES, 1-3 — — 0.11 0.08
45 {B - 5 |FEBEERSAAVH—IUT EES 1-3 - — 0.12 0.09
4 |C - 5|EEEREAOvHE—IUT FER 13 — — 011 0.07
47 |D - 6 |hEEREBEOVE—TUT FEE 1-3 — — 0.10 0.08
48 (¢ - 6 |kEEmMREEAOVH-—TYT SHR 1-3 — — 011 0.08
49 |B - 6 |REBEEAOVH—IUT SR 1-3 — — 0.12 0.08
50 |B ~ 7 |EEEHEOvH-TUT TS 1-3 — — 0.11 0.08
51 | C - 7/|deEEEESRARYA—TUT BHEA 13 — — 0.10 0.08
52 |D - 7 |#EERSRAOvA—TY7F FEHE= 1-3 - —_ 0.09 0.07
53 |D - 8|#EEREBEAOvA—TYT ZEES 1-3 — — 0.1 0.07
54 |E - 8| EHEBAMYIUT SHEA 1-3 - - 0.09 0.07
5 {E - 9| ¥EHALYITYT FHER 1:3 — e 0.10 0.07
56 |E - 10| EEEANITYT BHR 1-3 — - 0.10 0.07
57 ID - 0O|dEERBHANYA—IUT FES 143 — — 0.09 0.07
58 [D - 10 BERRERE ZHES 1-3 — — 0.09 0.07
59 | ¢ - O|EEBEERACNyA—IYF FEHEE 1-3 — — 0.1 0.08
60 |C - 10|dEmMEEAOvA—TYT HER 1-3 — — 0.10 0.08
61 ¢ - 8 |JEHEEARvH-~TJF E?Iﬁl‘,—ﬁ, 13 — — 0.09 0.07
62 |B - 8 |EERMEAOVA—IUT SHER 13 — — 0.10 0.08
63 |B - 9 |FEEHERMAOYA-TYF FHS 1-3 — — 0.11 0.08
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66 |H — 12 BRE REER 1-3 — — 0.09 0.07
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82 |G - 13 ERE FHT 1-3 — — 0.08 0.06
83 |F - 13 BRE FEA 1+3 - - 0.08 0.06
84 |E - 13 BWRE BEHEA 1-3 — e 0.09 0.07
85 |D - 13 BRE HEER 1+3 — - 0.10 0.07
8 {C - 13 BERE FHEE 1-3 — - 0.14 0.08
87 |B - 13 ERE FHEE 1+3 — - 0.15 0.11
88 1B ~ 12 BERE FH= 1-3 — — 0.13 0.10
89 1C —- 12 ERE THES 13 — — 0.08 0.06
90 ID - 12 BRE THES 1-3 — — 0.08 0.05
91 {E — 12 ELRE FER 1+3 — — 0.09 0.07
92 |F — 12 BAE FHER 1-3 — — 0.07 0.05
93 |g — 12 ERE FHES 1-3 — — 0.08 0.06




i B

o &%

(3 / 3)
: . ; mELEHE BELSEE ySv/h]
No. | EE{F 7 A |PER B . L
° ITE A=A No. | [cpm] | [Bg/cm®] | MeAfE | &/ME
94 1G - 11 ERE FHES 1-3 — — 0.10 0.08
95 |F - 11 BRE FER 1-3 — — 0.10 0.07
96 [E - 11 ERE FHR 1-3 - — 0.10 0.07
87 |D - 11 EBRE RER 1=3 — — 0.10 0.08
98 |c ~ 11 BERE FHR 1-3 — e 0.1 0,08
99 1B - 11 ELRE JER 1:3 — — 0.11 0.08
/
/
/
/




a5 R E ERE R

(1 /7 8)
£ % F 4 1F BeElF @ B O Yy - 34 S 355 (H27) RWAE & B150W0
E=20 BEHENF it 3FL HEEE| M v ORIF O #FAb
hifeyig B SRR — A W | s
TSR Y B
I H i Fk2T4E11 A 24 H 13 42 45~ BRI 45 ATk 28 (X I
N it | PN — L . =4
ilfees L e fATi@_ :ji N95 =AY
- ; 5 i BEE FEFRTE HENE Ry Sv/h]
No. EAZ T)T7H BERA - No. Teoml [Ba/om?] | BBAIE | /ME
1 |B - 1 il {80 22 FHER 12 — — 0.10 0.08
2 |B - 2 il = FHR 1-2 — — 0.11 0.07
3 |B - 3 il 2= FHER 1:2 — — 0.10 0.07
4 |B - 4 Hil{E = THES 1-2 — — 0.10 0.07
5 |[B - 5 = FHER 1:2 — — 0.10 0.06
6 |[B - 6 fa s = TFHEK 1-2 — — 1.25 0.14
7 |B ~ 17 fa = FEHK 12 — — 1.25 0.13
8 [B - 8 fa S bk E HHEIR 1-2 — — 0.15 0.10
9 |B - 9 L A FHER 1+2 — — 0.13 0.09
10 [B - 10 RS bR FHER 1-2 — — 0.10 0.08
11 |B - 11 b S FHER 1+2 — — 0.10 0.07
12 |B - 12 R FHER 1-2 — - 0.10 0.08
i3 [B - 13 HEE FHE 1-2 — — 0.19 0.10
14 |c - 1 il = FHER 1-2 — - 0.10 0.08
15 |[c - 2 il fE = FEHE 1-2 — - 0.10 0.08
16 |c - 3 il {50 2= FER 1-2 — — 0.09 0.06
17 |[c - 4 il {1 2= FHR 1-2 — — 0.10 0.07
18 [C - 5 il 1 22 FEK 1-2 — — 0.11 0.07
19 |C - 6 HREEE = 1-2 — — 0.35 0.27
20 ([C - 7 HEHEE FES 12 — — 0.31 0.21
21 |C - 10 s e 1-2 — — 0.11 0.08
22 |¢c - 11 A= FHES 1:2 — — 0.10 0.07
23 |Cc - 12 L= FHER 1-2 - — 0.09 0.07
24 |C - 13 HEZE FHES 1+2 — — 0.11 0.08
25 |D - 1 I HFHER 1-2 — — 0.10 0.08
26 |D - 2 = FHER 1+2 — — 0.10 0.07
27 |D - 3 il {E = FHER 1-2 — - 0.09 0.07
28 [D - 4 il 2 FHES 1-2 — — 0.10 0.07
29 |D - 5 il fEp = FHER 1-2 — — 0.10 0.07
30 [D - 6 S = FH= 1-2 — — 0.20 0.13
31 |D - 7 SR E FEHR 1-2 — - 0.18 0.1
32 |D - 8 FE S = FHER 1-2 — — 0.11 0.09
33 (D - 11 SR EE FEHR 1.2 — — 0.10 0.06
34 [D - 12 e L A 1-2 - — 0.08 0.06
3 |D - 13 HE= TESK 1+2 — — 0.11 0.09
3 [D - 2 IMETEER T FHER 1-2 — — 0.10 0.07
37 |D - 5 EE FER 1+2 — — 0.10 0.09
38 |[E - 2 SMEFEIE T FHEK 1-2 - — 0.10 0.07
39 |E - 5 EE FHES 1+2 — — 0.10 0.08
40 [E - 8 e S = FHK 1-2 - — 0.14 0.10
4 |E - 7 A= FHER 1:2 — — 0.14 0.10




B 5 R

Gk

{2/ 3)

= 3 PN HESR FEGRERE SR B LB i Sv/h]

No. | EiZ TYTF 4 BFERAb |7 [opm] | [Ba/om’] | AME | B/ME
42 [E - 8 a S REEA 1-2 - - 0.10 0.07
43 |E -~ 9 Halim= EHER 1-2 - - 0.09 0.07
44 |E - 10 WS = FER 12 — — 0.08 0.06
45 {E ~ 11 B E FHR 1-2 - — 0.08 0.06
46 |E - 12 WHMT A E FHER 142 — — 0.08 0.06
47 |E - 13 BEE TR 1-2 — — 0.11 0.09
48 |E - 14 s TES 1-2 — — 0.16 0.12
4% |E -~ 15 e SHER 1-2 — — 0.16 0.12
5 |F - 2 IMEVEER T e 1-2 — — 0.14 0.08
51 |F - &6 ety i e FER 1-2 — — 0.13 0.10
52 IF - 8 R = FHER 1-2 — — 0.08 0.07
53 |F - 9 WaEE=E HER 1:2 — — 0.10 0.07
54 |[F - 10 WRENE THR 1-2 — — 0.08 0.06
55 |F - 11 wmasE= RER 1-2 — - 0.08 0.06
56 |F — 12 HRERE FHE 1-2 o e 0.08 0.06
57 |F - 13 BIEE FER 1-2 — — 0.12 0.08
58 |F — 14 HWRE FEx ) | 1-2 - - 0.1 0.08
50 |F - 14 HBRE FHESGR) | 12 — — 0.12 0.09
60 {F - 15 HRE FHS (R | 1-2 — — 0.11 0.08
61 |[F - 15 BRE FES(E) | 1-2 — — 0.12 0.10
62 |G - 2 FETRER T THEER 1-2 — — 012 0.08
63 |G - 6 s FHER 1-2 — — 0.13 0.09
64 (g - 7 BaimE EHER 1-2 — - 0.10 0.08
65 |G - 8 faR M= SR 1-2 — — 0.08 0.06
66 |G - 0 faSmi= HHR 1:2 — — 0.10 0.08
87 |G - 10 HEEN=E FHR 1-2 — — 0.08 0.06
68 |G - 11 WwS = HES 1:2 — — 0.08 0.06
60 G — 12 HaENE FHE 1-2 — — 0.08 0.06
70 |G - 13 H s = FHER 1-2 — — 0.08 0.06
H|lag - 14 WRE FHEIA 1-2 — — 011 0.08
172 g - 15 HRAE FHER 1-2 — — 0.11 0.09
73 [H ~ 2 IEETREE T FHR 1.2 — - 0.19 0.12
74 1H - 3 AETEET FHR 1:2 e — 0.15 0.09
75 {H ~ 4 IWFE T FHEE 1:2 — e 0.13 0.10
76 |H - 8 R SHEA 1:2 — s 0.12 0.09
77 |H - 7 AR FHS 1-2 — - 0.11 0.09
78 |H - 8 faa s THE% 142 — — 0.08 0.07
79 [H - 9 s S TES 1-2 — — 0.00 0.07
80 [H - 10 R =E FHER 1-2 — — 0.09 0.07
81 |H - 1t R HFHER 1-2 — — 0.10 0.07
82 |H - 12 WmEREE=E FHR 1-2 — — 0.10 0.07
83 |H - 13 taEmE FHR 1-2 — — 0.09 0.07
84 |H ~ 14 maR=E FHR 1-2 — — 0.12 0.09
85 |[H - 15 s = B 12 — — 0.11 0.08
86 |H — 2 BIwe FHE 2 — — 0.10 0.09
87 |1 - 2 BITWC RHEE 2 — — 0.11 0.09
88 |J - 2 ZTFWC FHEER 2 — — 0.09 0.08
89 |K - 2 AR E FHER 2 — o 0.11 0.10
90 |L - 2 BARSERE TS 2 - — 0.08 0.07
91 |M - 2 EETES B 2 — — 0.08 0.07
92 [N - 2 EV FHR 2 — — 0.08 0.07
93 |0 - 2 DS/PS FER 2 — — 0.10 0.09




BB Br B OB RD

(3 / 3)
= i 3 2 MrES FHEERE = N =T u Sv/h]
No. HEHE IYF7H B ERA b Mo, Fonmi [Ba/om?] | BAME | m/ME
%4 I1p - 2 NS/PS FHES 2 — — 0.11 0.09
95 |T ~ 1 [ER k- TER 2 — — 0.10 0.09
9% T - 2 [ R THEK 2 — — 0.10 0.08
97 1U - 1 MmO E THEA 2 — — 0.11 0.09
98 (U - 2 iR 0= FHER 2 — — 0,08 0.07
98 |V - 1 Bima oz HHE 2 — — 0.10 0.09
100 {v - 2 FEh R FHE 2 — — 0.09 0.08
101 |D - 1 ES B 13 — — 0.11 0.09
102 |D - 3 oE FHR 1-3 - e 010 0.08
103 [E - 1 {REAEE FHER 1-3 - — 0.12 0.09
104 |E - 3 =i FHER 1-3 o o 0.10 0.08
105 {E - 5 CO2IR R E FHER 13 — — 0.08 0.07
106 [F — 1 {REEZE SHER 1-3 — — 0.11 0.09
107 IF - 3 ik FHES 1+3 — — 0.10 0.07
108 |[F - 3 {EAREE (1) FHER 1-3 — - 0.08 0.07
108 [F - 4 RIRZEE (2) FHES 1-3 — — 0.09 0.07
110 |F - 5 CO2ARV AR FEA 1-3 — — 0.09 0.07
11| - 1 BAE R HHER 1-3 — — 0.10 0.08
112 /g - 1 WhiH=E FES 1-3 — — 0.10 0.08
113 |G ~ 1 LT FHE 2 — — 0.12 0.10
114 |G - 3 AR (1) FER 1-3 — — 0.10 0.07
151G - 4 RIRZE (2) FHR 1-3 —_ ~ 0.10 0.08
16 ]G - 5 CO2R A BEEA 1:3 — ~ 0.10 0.07
117 |H - 1 AT FHR 2 - e 0.12 0.10
118 1H - 5 RIEEET S FHER 13 o — 011 0.08
1M1 ~ 1 IWALET FHR 2 e - 0.10 0.09
120 |d - 1 IREILEET HE S 2 - — 0.t1 0.10
121 [K - 1 LR T FHR 2 — - 0.10 0.09
122 [L - 1 FEALERT THEI 2 — — 0.10 0.09
123 |M - 1 EILERF FHER 2 — — 0.10 0.09
124 [N - 1 SFEALERF FHER 2 — — 0.11 0.09
126 [0 - 1 RIEE A FHEX 2 — — 0.10 0.09
126 |p - 1 AR THR, 2 — — 0.11 0.09
127 |p - 1 FlaER HER 2 — — 0.11 0.10
128 |[p - 2 FiREERE FHEHR 2 — — 0.10 0.09
120 [@ - i FiaFEE FER 2 — — 0.11 0.09
130 [@ ~ 2 FiEREE FHER 2 — — 0.10 0.09
131 [R - 1 FlFE=E SHR 2 — - 0.11 0.10
132 /R - 2 FiRFEEE FHE 2 - e 0.10 0.09
133 s - 1 FliHFEE HEHR 2 — — 0.10 0.09
134 s - 2 FliaREE FHEE 2 — — 0.09 0.08
135 | T - 1 FlRHEE FHER 2 — — 0.10 0.09
136 |T - 2 FlFHEE FHE 2 — — 0.1t 0.10
137 |C - 8 R E SHER 13 — — 0.17 0.13
138 [Cc - 9 RS S 1-3 — - 0.1 0.08
—
/




B R EE D

(1 / 2)
£ 2% & 4 1F BERMAR R ORRYY - e A4 - P 25 (H27) RWAZ & B150W0
(=200 BEAEF LR 1FL HEER O v EAI7F O #Ab
izt o I IR — A Ries | e
FRETERE L
HIE B B WRE2T511 H 248 8 304~ ES:AES P I
i i i AT el <z A
R | | e
- i S 588 FWHLEEE =L ey Sv/h]
ho | B8 el ARAAE "o | Topm] | [Ba/om’] | BATE | BAME
1 o - 1 SHMRT=E EH 6 25 <6.02E-01 — —
2 |P - kAR T=E KFH 6 30 <6.02E-01 — —
3 [@ - 1 HMRUT=E EE 6 25 <6.02E-01 — —
4 |R - 1 HAMRTE EEis 6 30 <6.02E-01 — —
5 |s - 1 HMRUTE KH 6 20 <6.02E-01 — —
6 [s - 2 HMRTE K 6 25 <6.02E-01 — .
7 |lo - 1 HkRT=E P[R=3 6 30 <6.02E-01 — —
8 o - 1 SEHMRLT= PGB 6 30 <6.02E-01 — —
9 |lo - 1 SENRVT=E GES 6 20 <6.02E-01 — —
10 [P - 1 EMRUT=E JbBE 6 35 <6.02E-01 — —
" |p - 1 ENRYT=E [ 6 40 <6.02E-01 — —
12 @ - 1 SHMRTE JbBE 6 45 <6.02E-01 — -
13 [@ - 2 HARUT=E paEE 6 35 <6.02E-01 — -
14 @ - 2 SHMRVT=E S 6 25 <6.02E-01 — —
15 |[R - 1 HMRUT=E db e 6 40 <6.02E-01 — —
16 |[R - 2 HMRVT=E GES 6 20 <6.02E-01 — —
17 [ - 1 HMNRUTE JeEE 6 30 <6.02E-01 — —
18 [s - 1 SHMRVT=E R 6 30 <6.02E-01 — -
19 |s - 2 MR T=E HLEE 6 30 <6.02E-01 - —
20 [ - 2 KR TE S 6 25 <6.02E-01 — —
21 [0 - 1 EMRTE PR 6 30 <6.02E-01 — —
22 [P - 1 HkRT=E FRm 6 35 <6.02E-01 — —
23 1@ ~ 1 HMRUTE RE B 30 <6.02E-01 — -
24 [R - 1 MRV TE PRI 6 30 <6.02E-01 — —
25 |s - 1 HMRLTE PR 6 25 <6.02E-01 — —
26 |Q - 2 SEARUT= PR 6 20 <6.02E-01 — —
27 |R - 2 SHNRVT=E PRI 6 30 <6.02E-01 — —
28 |s - 2 HNRUT=E PR 6 25 <6.02E-01 — —
29 |s - 1 SHNRT=E HEES (AR qanD 6 30 <6.02E-01 — —
30 |s — 1 EMNRL TR peas (Bl 6 30 <6.02E-01 — —
31 |s - 1 HKRTE s (D 6 35 <6.02E-01 — —
32 [s - 1 HAMRTE Beas (D 6 25 <6.02E-01 — —
33 |s - 1 HMRT=E fiezs (EER) 6 40 <6.02E-01 — —
34 | - 2 HARTE pegR (AL AD 6 20 <6.02E-01 - —
3B |Q - 2 HARTE HE2S (FH{AD) 6 30 <6.02E-01 — —
(@ - 2 HMROTE Bess (F{E]) 6 30 <6.02E-01 - —
37 |a - 2 HARUTE HeaE (B 6 35 <6.02E-01 — —
38 |Q - 2 EHAMARL TR RS (EE) 6 30 <6.02E-01 — —
39 Q@ - kR TE H N AR 6 40 <6.02E-01 — —
40 [R - 1 AR TE Has 6 40 <6.02E-01 - —
41 |R - 2 EkRLTE EEs 6 45 <6.02E-01 — —




B R B R aR

(2 / 2)
i pm | : ¢ /. MEBR FEEEEE e ey Sv/h]
No. AT TUFH BIFEARA b No. Topm] [Bo/om’] | AR | B/AE
42 o - 2 DS/PS EEi 6 35 <6.02E-01 — —
43 |p - 2 DS/PS KIF 6 35 <6.02E-01 - -
4 {0 - 2 DS/PS LB 8 20 <6.02E-01 — -
45 |0 - 2 DS/PS e 6 30 <6.02E-01 — —
46 [0 - 2 DS/PS [Fals 6 30 <6.02E-01 — —
47 [p - 2 DS/PS Jb ¥ 6 25 <6.02E-01 — —
48 |p - 2 DS/PS HEE 6 20 <8.02E-01 — —
49 {p - 2 DS/PS ol 6 30 <6.02E-01 — —
56 o - 2 DS/PS PR 6 40 <6.02E-01 — —
51 [p - 2 DS/PS Rm 8 35 <6.02E-01 — —
52 |L - t A AA—ETE F¥# 6 20 <6.02E-01 — —
53 [M - 1 Hth/A—EftE xH 6 30 <B.02E-01 - —
54 IN -~ 1 fths A~ E XH 6 40 <B.02E-01 — —
55 L - 1 th/A—H{E=E B3 6 30 <6.02E-01 - —
56 [ - 1 HohAA—HH=E FHEE 8 40 <6.02E-01 — e
5 (L - 1 M/ A—HfdE mgEE 6 30 <B.02E-01 — -
58 |M — 1 HAN—MAE LB 6 25 <6.02E-01 — —
59 M - 1 HhsS—HfFE B BE 6 30 <6.02E-01 — —
80 [N — 1 b/ S —HATER Jp BE 6 25 <6.02E-01 — —
61 [N - 1 HAN—HEfTE HiEE 6 30 <6.02E-01 — —
82 [N - 1 #AhN—HTR FEE 6 20 <6.02E-01 — —
83 [L - 1 |#Hh/ A—ERFERGERED 7} 6 25 <6.02E-01 — —
64 [L - 1 |#h iz (ERER) FRE 6 35 <6.02E-01 — —
66 (M - 1 [#A/ A—EtE(FILE) PRI 6 35 <6.02E-01 — —
66 |M — 1 |#h A—miTREREER) K@ 6 40 <6.02E-01 — —
67 | — 1 |HA A —HitE (AR PRI 6 40 <8.02E-01 — —
68 [N - 1 HhA—FE=E PR 6 30 <6.02E-01 — —
69 |K - 2 FARGER = dreE 8 30 <6.02E-01 — —
70 [K - 2 EARERE i3 6 35 <6.02E-01 — —
71 (K - 2 FATRERE R 6 35 <6.02E-01 — —
72 1L - 2 AR ERE Jo Bk 6 40 <6.02E-01 — —
3L - 2 FARRERE FEE 6 35 <6.02E-01 e -
74 M - 2 AR Jr Bk 6 45 <6.02E-01 - -
75 M ~ 2 FARERE BLEE 6 30 <6.02E-01 s -
76 [M - 2 AR EREE I 6 30 {6.02E-01 - —
77 |K - 2 ARSI ] 8 30 <6.02E-01 - —
8 |L - 2 ARG RS PR 6 25 <8.02E-01 — —
79 |M - 2| EFE4RERR= (FEREAD R 6 30 <6.02E-01 — —
80 |M - 2 |EEAREEYEE (RILEBD Z3r] 6 30 <6.02E-01 — —
81 |M - 2|BAREEE (FALrEf) R 6 20 <6.02E-01 — —
82 |N -~ 2 EV X 6 30 <6.02E-01 — —
83 [N - 2 EV ihB# 6 20 <B.02E-01 — —
84 [N - 2 EV FEE 6 30 <B.02F-01 — —
85 [N - 2 EV HiBE 8 25 <6.02E-01 — —
8 |N - 2 EV EE 8 30 <6.02E-01 - —
87 [N - 2 EV PR 8 35 <6.02E-01 - -
88 - EVE L&y F — 6 25 <6.02E-01 e s
[
P —




BB R HE R &

(1 / 2)
£ % # 4 1F BERIFREB DORRY - 38 4 - — A 255 (H2T) RWAZ & B150W0
=250 BEREI et 2FL WrTEAIO v BAI7 O FAbk
iz BT AR — A WSS | KBS R
Fe G A s
Wz B g RG2T4E11 A 24 H 14FF 0043~ EREE B g Kk
sralisn .. .. s PN F I NOETRAY
HEH 5 2 2 i AT
@ i : PR M FMEFREEE HELEHE[ 4 Sv/h]
No. | [HE4R TYTH BIERAE |7 fopm] | [Bo/ord] | BATE | BME
1 |c - 1 2F dLER T KH 5 40 <6.90E-01 — —
2 |D - 1 2F dLER T Eii 5 25 <6.90E-01 - —
3 |[E - 1 2F LR T xH 5 50 <6.90E-01 — —
4 |F - 1 2F LT xH 5 30 <6.90E-01 — —
5 |G - 1 2F LER T xIH 5 45 <6.90E-01 — —
6 [H - 1 2F LE T XH 5 35 <6.90E-01 — —
7 (1 -1 2F &R T xH 5 40 <6.90F-01 - —
8 |J - 1 2F dLEET KH 5 35 <6.90E-01 — —
9 |K - 1 2F &t TF I 5 25 <6.90E-01 — —
i0 |L - 1 2F LT XH 5 35 <6.90E-01 — —
i1 |M - 1 2F LR X 5 20 <6.90E-0f1 — —
12 |N - 1 2F dLERF KH: 5 15 <6.90E-01 — —
13 o - 1 2F dLRF KH 5 40 <6.90E-01 — —
14 [P - 1 2F JLEE T KH# 5 30 <6.90E-01 — —
15 |Cc - 1 2F dLER T IR 5 25 <6.90E-01 — —
16 |D - 1 2F JLER T JES 5 30 <B.90E-01 — —
17 |E - 1 2F AL ER T 73 5 30 <6.90E-01 — —
18 |F - 1 2F dLER T K 5 40 <6.90E-01 — —
19 |G - 1 2F dEER T 7 5 20 <6.90E-01 — —
20 [H - 1 2F dLER T 7 5 30 <6.90E-01 — —
21 |1 - 1 2F LE T FE 5 20 <6.90E-01 — —
22 |J - 1 2F LT Ik 5 30 <6.90E-01 — —
23 |K - 1 2F LR T 73 5 25 <6.90E-01 — —
24 |L - 1 2F LT K 5 40 <6.90E-01 — —
25 [M - 1 2F LERF B (k) 5 25 <6.90E-01 — —
26 |M - 1 2F LR T ENGETED) 5 30 <6.90E-01 — —
27 |M - 1 2F dLEE T FGES) 5 40 <6.90E-01 — —
28 |N - 1 2F LR R 5 35 <6.90E-01 — —
29 [0 - 1 2F ALER T & 5 50 <6.90E-01 — —
30 |P - 1 2F LB T 53 5 25 <6.90E-01 — —
a1 |c - 1 2F AL T B 5 25 <6.90E-01 — —
32 |c - 1 2F dLER T BE T 5 25 <6.90E-01 — -
33 [Cc - | 2F JLER T B 5 30 <6.90E-01 — —
34 |D - 1 2F dLER T (4 5 30 <6.90E-01 — —
35 |E - | 2F dLER T B 5 25 <6.90E-01 — —
36 |F - 1 2F LR T Bk 5 35 <6.90E-01 — -
37 |g - 1 2F LR T BEdb 5 30 <6.90E-01 — —
38 |H - 1 2F LT B 5 25 <6.90E-01 — —
39 |1 - 1 2F LB B2t 5 35 <6.90F-01 - -
40 [J - 1 2F LT Bk 5 30 <6.90E-01 — —
41 |[K - 1 2F bR BEdr 5 20 <6.90E-01 — —




i g oS

(2 / 2)

: o . BEs FEmEHEE e B 1 Sv/h]

No. | JEE IUT4 AERA | [epm] | [Bg/em’] | IxXfE | s/DME
42 L - 1 2F LEE T BEib 5 15 <6.90E-01 — —
43 (M - 2F JLERT Bt 5 40 <6.90E-01 — —
44 IN - 1 2F LB T Bk 5 15 <6.90F-01 — —
45 o - 1 2F ALERF Btk 5 30 <6.90E-01 — —
4 [P - 1 2F LERTF Bk 5 25 <6.90E-01 e -
47 |P - 1 2F LR T BET 5 40 <6.90E-01 — -
48 {D - 1 2F kBT BEEg 5 30 <8.90E-01 o —
49 [E - 1 2F BT BERR 5 25 <6.90E-01 — —
50 IF - 1 2F BT BEEY 5 15 <6.90E-01 — —
51 [G - 1 2F LERET BE Ry 5 30 <6.90E-01 — —
52 |H - 1 2F &LERTF B 5 20 <6.90E-01 — —
53 |1 - 1 2F JLEEF Bty 5 25 <6.90E-01 — —
B4 | J — 1 2F JLERF BER 5 50 <6.90E-01 — —
55 |K - 1 2F LT BEEg 5 20 <6.90E-01 — —
5 | L ~ 1 2F LT BER 5 45 <6.90E-01 — —
57 {M — 1 2F LB T B RS 5 20 <6.90E-01 — —
58 [N - 1 oF LER T BERg 5 25 <6.90E-01 — —
58 O - 1 2F BT BERY 5 15 <8.90E-01 o -
80 [P — 1 F AT e de] 5 30 <6.90E-01 — -
61 |P - 1 2F BT L—ib E 5 50 <6.90E~01 - -
62 |[M - 1 2F dLER T L—J k 5 20 <8.90E-01 — —
63 |Oo - 1 2F LR T L~ E 5 45 <B.90E-01 - —
64 |L ~ 1 2F dLEEF L—M + 5 30 <6.90E-01 — —
65 [N ~ 1 2F LB L= E 5 60 <6.90E-01 — —
66 |K - 1 2F LT L—ib L 5 30 <6.90E-01 — —
67 |J - 1 2F LT L—jt E 5 25 <6.90E-01 — —
68 |1 - 1 2F JbERF L—JL k 5 40 <6.90E-01 — —
69 1G — 1 2F LT L—JL £ 5 35 <6.90E-01 - —
70 [JH - 1 2F LER T L—i t 5 30 <6.90E-01 — —
HIiF ~ 1 2F LT L—iL E 5 25 <6.90E-01 — —
72 |E - 1 2F LT L—il L 5 30 <6.90E-01 — —
73 /D -~ 1 2F dbEF L—iL E 5 30 <6.90E-01 — —
74 |H - 1 2F LT JHIER 5 40 <6.90E-01 — —
75 lE - 1 2F dLERF JHide 5 30 <6.90E-01 — —
76 [H - 1 2F kR T HRE 5 30 <6.90E-01 — —
77 - 2FL EV_EEB[5RE — 5 40 <6.90E-01 — —
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No. A2 IYFH AERIE |7 Tepml [Ba/em?] | SAIE | B/ME
1 |B - 1 2FL WC KH 5 20 <6.90E-01 — —
2 |c - 1 2FL WC FH 5 25 <6.90E-01 — —
3 [B - 1 2FL WC Bt 5 25 <6.90E-01 =i —
4 |B - 1 2FL WC BEPH 5 40 <6.90E-01 — —
5 B - 1 2FL WC BER 5 35 <6.90E-01 — -
6 |C - 1 2FL WC Bt 5 25 <6.90E-01 — —
7 |c - 1 2FL WC BEE 5 20 <6.90E-01 — —
8 [c - 1 2FL WC BERg 5 45 <6.90E-01 — —
9 |B - 1 2FL WC F3 5 40 <6.90E-01 — —
10 [C - 1 2FL WC 73 5 15 <6.90E-01 — —
11 o - 2 DS/PS xH 5 40 <6.90E-01 — -
12 |p - 2 DS/PS Xt 5 20 <6.90E-01 — —
i3 o - 2 DS/PS BE4L 5 45 <6.90E-01 o —
14 |0 - 2 DS/PS EETH 5 20 <6.90E-01 — —
15 [0 - 2 DS/PS BEE 5 25 <6.90E-01 — —
16 [P - 2 DS/PS Bk 5 35 <6.90E-01 — -
17 |P - 2 DS/PS BEE 5 40 <6.90E-01 — —
18 |Pp - 2 DS/PS BTy 5 40 <6.90E-01 — —
19 o - 2 DS/PS 73 5 50 <6.90E-01 — —
20 [P - 2 DS/PS E 5 40 <6.90E-01 — —
21 |C - 9 BRaRE Cigle 5 25 <6.90E-01 — —
22 |[C - 9 BEtRE A= i 5 45 <6.90E-01 — -
23 |C - 10 BEiREPE BET 5 25 <6.90E-01 — —
24 |Cc - 10 EfRE = BERg 5 30 <6.90E-01 — —
25 [D ~- 9 EHEEE BE L 5 10 <6.90E-01 — —
26 [D - 9 BERaEs BEER 5 15 <6.90E-01 — —
27 [D - 10 EHRAEE BEET 5 30 <6.90E-01 — —
28 [D - 10 BEHEEE BEE 5 30 <6.90E-01 — —
29 [c - 9 BEHREE=E [73 5 30 <6.90E-01 — —
30 [c - 10 BfaE=E IF3 5 50 <6.90E-01 — —
31 [D - 9 EEfREE= R 5 25 <6.90E-01 — —
32 [D - 10 BEREEE 53 5 25 <6.90E-01 — —
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No. iyl TYT74 BIERA B No. Tepm] [Ba/om?] | SAIE | R/ME
i |D - 3 Y—_ALTYF xH 6 40 <6.02E-01 — -
2 |D - 4 Y—AATY7 xHF 6 50 <6.02E-01 — —
3 [D - 5 Y—_ATYT XH 6 20 <6.02E-01 — —
4 |E - 5 H—A_AT7 xH 6 45 <6.02E-01 — —
5 |E - 4 Y—_RATYTF XH 6 25 <6.02E-01 — —
6 |E - 3 H—_RATF xH 6 30 <6.02E-01 — —
7 |[bD - 3 HY—_ALTT BEADA—]| 6 30 <6.02E-01 — —
8 [E - 2 HY—_ATT ErRE=42| 6 30 <6.02E-01 - —
9 |[E - 5 HY—_ALTTF FREE=ANo25)| 6 25 <6.02E-01 — -
i0 |E - 5 HY—_RATYT REEE=F(No.24)| 6 30 <6.02E-01 — —
1M1 |E - 5 Y—_ALTYTF BIFEHTUE—| 6 30 <6.02E-01 — —
12 |[E - 2 H—_RATYT AEEE=4N22)| 6 25 <6.02E-01 — —
13 |E - 2 Y—_ATYTF RREE=SNo.23)[ 6 20 <6.02E-01 - -
14 [E - 3 H—_ATYT hva—tEas)| 6 35 <6.02E-01 — —
15 |E - 4 H—RATYT A E—(EES) | 6 25 <6.02E-01 — —
16 |[D - 3 Y—_AT)T BEPY 6 20 <6.02E-01 — —
17 [D - 4 Y—RATYT BEPY 6 30 <6.02E-01 — —
18 [D - 5 Y—_ALITYTF BEyg 6 20 <6.02E-01 — —
19 |D - 5 Y—RATYT BERg 6 25 <6.02E-01 — —
20 |E - 5 Y—_RATYTF BEER 6 45 <6.02E-01 — —
21 |[E - 5 Y—_ATYT B2 6 40 <6.02E-01 — -
22 |[E - 5 Y—_LITYT EGED) 6 40 <6.02E-01 — —
23 |E - 5 F—RATT PR (RIh) 6 45 <6.02E-01 — —
24 |E - 5 Y—_ALTYT B (b E) 6 20 <6.02E-01 — -
25 |[E - 5 Y—_ATYT & (L FE) 6 35 <6.02E-01 — —
26 |E - 4 H—_ATYT & () 6 45 <6.02E-01 — -
27 |E - 4 H—_ATYTF IR (78) 6 30 <6.02E-01 — —
28 |[E - 3 Y—_ATYT EIGIED) 6 40 <6.02E-01 — —
29 |[E - 3 H—_ATYF PR (RI78) 6 45 <6.02E-01 — —
30 [E - 3 h—_ATYT BR (L) 6 45 <6.02E-01 — —
31 |E - 3 H—_ALTF B (Abig) 6 30 <6.02E-01 — —
32 |[D - 5 Y—_RATYT7 FE (/) 6 45 <6.02E-01 — —
33 |D - 5 Y—_ATF FR (k) 6 15 <6.02E-01 — —
34 |D - 3 H—_ATYT FE (46) 6 35 <6.02E-01 — -
35 |D - 3 P—_ALITYTF PR (F) 6 45 <6.02E-01 - —
3 |D - 4 HY—_RATYTF 73 6 40 <6.02E-01 — —
—
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No. [EE4E TYFH HIERA R No. Tepml [Ba/om’] | BAIE | 2/ME
1 |D - 8| EmfHRbyITUT K 6 45 <6.02E-01 — —
2 |D - 9| BEEAITT X3 6 35 <6.02E-01 — —
3 |D - 10| EHEEArHTYT I 6 25 <6.02E-01 — -
4 |E - 8| EfREAYITIT X3 6 35 <6.02E-01 - —
5 |E - 9| ¥E{EIMITYT XHF 6 20 <6.02E-01 — =
6 |E - 10| EEEANITIT xFH 6 35 <6.02E-01 - -
7 |E - 8| EiwEAMOIUT BEER 6 25 <6.02E-01 — —
8 |E - 9| EEEAMITIT BEET 6 40 <6.02E-01 — —
9 |E - 10| El¥EAyOT)7 BEE 6 30 <6.02E-01 — —
10 [D - 10| EwEAOTUT BEY 6 40 <6.02E-01 — —
11 [D - 9| EiEAMHITIUT ] 6 30 <6.02E-01 — —
12 [D - 8| EmfEAbyOITIUT B 6 35 <6.02E-01 — —
13 [D - 8| EmEAryOITUT BEAL 6 30 <6.02E-01 — —
14 |E - 8| EmEALITYT B2l 6 30 <6.02E-01 - —
15 |E - 10| ZE{EfBEALyoT)7 BER 6 25 <6.02E-01 — —
16 |D - 10| ¥EmFAALYITIT BEFg 6 35 <6.02E-01 — —
17 |E - 10| EEfEAyoT)7 R 6 30 <6.02E-01 — -
18 |D - 10| ¥EREALyHT)T 3 6 30 <6.02E-01 — —
19 |E - 9| ¥fF¥EAyITUT = 6 25 <6.02E-01 — —
20 D - 9| EEEALYITT K 6 20 <6.02E-01 — -
21 |E - 8| EfwEANITUT & 6 45 <6.02E-01 - —
22 |D - 8| EEEArysT)T & 6 20 <6.02E-01 — —
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No EAZ IYTH AERAVE |7 o] | [Bo/on] | BAME | BNE
1B - 11 BLE K 6 20 <6.02E-01 — —
2 e - 11 ERE XH B 30 <6.02E-01 — —
3 [D - i1 BRE XH 6 25 <6.02E-01 — —
4 |E - 1 BR=E XH 6 30 <6.02E-01 — —
5 |F - 11 BRE XH 6 45 <6.02E-01 — -
6 |G - 11 BERE XH 6 30 <6.02E-01 — —
7 |H - 11 BRE KH 6 30 <6.02E-01 — —
8 |B - 12 BRE KFH 6 40 <6.02E-01 — —
9 |Cc - 12 BRE KH 6 40 <6.02E-01 — —
10 [D - 12 ERE K 6 40 <6.02E-01 — —
11 |[E - 12 BERE Kt [} 20 <6.02E-01 — —
12 |[F - 12 BERE XK 6 30 <6.02E-01 — —
13 |G - 12 BRE KH 6 20 <6.02E-01 — —
14 |H - 12 BRE X 6 30 <6.02E-01 — —
i5 |B - 13 BRE KH 6 20 <6.02E-01 — —
16 |C - 13 BEA KH 6 30 <6.02E-01 - —
17 |D - 13 BRE XH 6 30 <6.02E-01 — —
18 |E - 13 BRAE KH 6 25 <6.02E-01 — —
19 |F - 13 BEXE XHF 6 40 <6.02E-01 — —
20 |G - 13 BRE XH 6 35 <6.02E-01 — —
21 |H - 13 BERE XH 6 40 <6.02E-01 — —
22 |B - 14 BRE X3 6 20 <6.02E-01 — —
23 |Cc - 14 BERE KH 6 30 <6.02E-01 — —
24 |D - 14 BRE KH 6 30 <6.02E-01 — —
25 |E - 14 BRE FH 6 30 <6.02E-01 — —
26 |F - 14 ERE KH 6 35 <6.02E-01 — —
27 |G - 14 BRE EKH 6 30 <6.02E-01 — —
28 |H - 14 BRE KIH 6 55 <6.02E-01 — —
29 |B — 15 BLAE XKt 6 25 <6.02E-01 — —
30 |C - 15 BEXE KHF 6 35 <6.02E-01 — —
31 [D - 15 BRE XHF 6 50 <6.02E-01 — —
32 |E - 15 ERE xH 6 50 <6.02E-01 — —
33 [F - 15 BLRE xIF 6 35 <6.02E-01 — —
34 |G - 15 BRE KFH 6 30 <6.02E-01 — —
35 [H - 15 BELRE KH 6 50 <6.02E-01 — —
36 |B — 11 ERE FE 6 30 <6.02E-01 — —
37 [c - 11 BRE S 6 40 <6.02E-01 — —
38 |D - 11 BERE 7S 6 35 <6.02E-01 — —
39 [E - 11 ERE 73 6 40 <6.02E-01 — —
40 |F - 11 BLE 73 6 45 <6.02E-01 — —
M1 g - 11 BERE & (7)) 6 45 <6.02E-01 — —
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No. | M4 I)74 BRIV |7 Toom] | 8o/ | BAlE | &G
42 16 - 11 BRE & (L) 6 20 <6.02E-01 — -
43 |G - 11 BRE F (L) 6 40 <6.02E-01 — —
4 |H - 11 BRE EE (B1) 6 25 <6.02E-01 — —
45 |H - 1i BRE P8 8 35 <6.02E-01 - —
4 |B - 12 BRE JF 3 8 20 <6.02E-01 — —
47 |G - 12 BERE [F3 6 35 <6.02E-01 — —
48 |D - 12 BAE [F3 6 25 <6.02E-01 — —
49 |E - 12 BERE IR 6 35 <6.02E-01 - —
50 |F - 12 BRE 73 6 35 <6.02E-01 - —
5 |G - 12 ERE EE 6 40 <6.02E-01 - —
52 {H - 12 ERE [73 6 30 <6.02E-01 - —
53 IB - 13 ERE 73 6 35 ¢6.02E-01 — —
54 [C - 13 BRE % 8 35 <6.02E-01 — —
55 ID - 13 B % 6 35 <6.02E-01 — —
B8 |E - 13 BLRE 7S 6 50 <6.02E-01 — o
57 |F - 13 BERE £ 6 30 <6.02E-01 — —
5 |G - 13 BRE 53 6 30 <6.02E-01 — -
59 |[H - 13 BRE R 6 30 <6.02E-01 — —
80 |B - 14 BRE 73 8 50 <6.02E-01 — —
61 |Cc - 14 BRE £ B 40 <6.02E-01 — —
62 |D - 14 ERE K B 25 <6.02E-01 — —
63 |E - 14 BRE 73 6 10 <6.02E-01 — -
84 |F - 14 ERE 73 6 35 <8.02E-01 - —
B5 |G - 14 BERE 73 6 30 <6.02E-01 - —
66 |H - 14 ERE 73 6 30 <6.02E-01 — —
87 |B - 15 BRE R 6 35 <6.02E-01 - —
68 |[C - 15 BRE E 6 30 <6.02E-01 - —
69 1D - 15 BRE 53 6 49 <6.02E-01 — —
70 {E - 15 BRE F3 6 30 <6.02E-01 — —
M {F — 15 BLE 73 8 30 <6.02E-01 — -
721G - 15 ERE 73 6 30 <B.02E-01 — —
73 [H - 1% ELE 73 6 20 <6.02E-01 — -
4 1B - 11 BRE L—ib k 6 20 <B.02E-01 — -
75 (c - 11 BRE L—iL k 8 30 <B.02E-01 — —
76 D - 11 BRE L—i E 6 30 <8.02E-01 — e
77 |E - 11 BERE L—it Lk B 30 <8.02E-01 - —
78 |F - 11 BERE L—ib E 6 35 <6.02E-01 — —
19 (|G - 11 BERE L—ib k 8 30 <8.02E-01 — —
80 [H - 11 BRE L—iL E 6 45 <6.02E-01 e —
8t |B - 12 BRE L—il E 6 30 <6.02E-01 — —
82 (¢ - 12 BERE L—iL E 8 35 <6.02E-01 — —
83 |D - 12 BRE il E 6 20 <6.02E-01 — —
84 |E - 12 BRE i—il k 8 15 <6.02E-01 — -
85 |F - 12 BRE L—iL E 6 25 <6.02E-01 — —
B8 |G — 12 BRE L—I E ) 35 <6.02E-01 — -
87 |H - 12 BRE L—i + 8 15 <6.02F-01 — —
88 |B - i3 BRE L—n k 6 40 <6.02E-01 — —
88 |C - 13 BRE L— E 6 45 <6.02E-01 — -
80 (D - 13 BERE L—N .k 6 35 <6.02E-01 - —
91 |E - 13 BRE L—i E 6 35 <6.02E-01 — —
92 |F - 13 BRE L—N .k 6 25 <6.02E-01 — —
93 |G - 13 BRE L— E 6 45 <6.02E-01 — —
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No. [EiE TFH AEARAF No. fepm] [Ba/cm?] | AR | BAE
94 [H - 13 BRE Lv—ib 6 25 <B.02E-01 — —
95 (B - 14 BRE L—JL t 8 30 <6.02E-D1 || — —
9% |c - 14 BRE L—ib k 6 40 <6.02E-01 — —
97 |D - 14 BRE L— B 30 <8.02E-01 - -
98 [E - 14 BRE L—1 E 8 25 <6.02E-01 — —
99 |F -~ 14 BRE L—H E 6 30 <6.02E-01 - —
100 |G - 14 BRE L—i E 6 25 <6.02E-01 — —
101 |H -~ 14 ERE L—JL k 6 25 <6.02E-01 — -
102 |B - 15 BRE L—it E 6 25 <6.02E-01 — —
103 |Cc - 15 ERE L—IL E 8 25 <6.02E-01 — —
104 |D - 15 BRE L—J E [ 35 <B.02E-01 — —
106 {E - 15 BRAE L—Ii 6 20 <8.02E-01 — —
106 |F - 15 ERE L—jl t 6 50 <8.02E~01 — -
107 1g - 15 BRE L—ib k& 6 20 <6.02E-01 — -
108 1H - 15 BRE b B 30 <6.02E-01 — —
108 [B - 11 BRE 4 8 55 <6.02E-01 — —
110 [B ~ 11 BRE B¥PR 6 35 <6.02E-0t — -
1 |B - 12 BRE BEph 6 20 <6.02E-01 — —
i12|{B - 13 ELE BEPH 6 30 <6.02E-01 — —
113 |B - 14 BERE BEPG 6 25 <B.02F-01 — —
114 |B - 15 ERE BEPH 6 50 <6.02E-01 — -
115 [B - 15 BRE e 6 35 <6.02E-01 — —
16 {c - 11 BRE Bk 6 40 <6.02E-01 — —
117 |{C - 15 BRE B Ry 6 50 <6.02F-01 — —
118 [D - 11 BRE Bl [ 30 <6.02E-01 - —
119 1D - 15 BRE ) 6 30 <6.02E-01 - —
120 [E - 11 BRE B 6 25 <6.02E-01 - -
121 |E - 15 BRE Ee] 6 30 <6.02E-01 . —
122 |F - 11 BRAE B 6 25 <6.02E-01 — -
123 |F - 15 BRE BER 6 50 <8.02E-01 - —
124 |G - 11 BRE BEfp 8 40 ¢6.02E-01 — —
125 |G ~ 15 BERE ] 6 35 <6.02E-01 — —
126 |H - 11 BERE BEdk 6 25 <6.02E-01 — -
127 [H - 1t ERE BFER 6 20 <6.02E-01 — —
128 [H - 12 BR BEER 6 25 <6.02E-01 — —
129 |[H - 13 ERE BEE 8 35 <6.02E-01 — —
130 {H - 14 BRE B 8 35 <6.02E-01 — —
131 {H - 15 BRAE BEe 6 45 <6.02E-01 — —
13216 - 15 ERE BEER 6 35 <6.02E-01 — —
133 |H - 15 BRE BER 6 20 <6.02E-01 - —
134 |[c —~ 11 BRE FEsEME £ 6 30 <6.02E-01 - -
135 ID - 11 ERE mEEaEiE L] 8 35 <6.02E-01 — -
136 tE ~ 11 BRE mESEE L] 6 20 <6.02E-01 - o
137 [c - 11 BRE mEflioERE L] 6 45 <6.02E-01 — -
138 [D ~ 11 BRE Al ERE L] 6 35 <6.02E-01 — e
139 |[E - 11 BRE AAISER L] 6 25 <6.02E-01 — —
140 |G - 11 BRE mAlsEEm| 6 20 <6.02E-01 — —
141 |E - 11 BRE Pl ER m| 6 30 <6.02E-01 — —
142 {G - 1t EERE Ao EiE E| 6 30 <6.02E-01 — —
143 |D - 1t BRE Al ER E| 6 20 <6.02F-0M1 — —
144 [E - 11 ok PRl A | 6 30 <6.02E-01 - —
145 |[F - 11 BRE HAIRER L] 6 45 <6.02E-01 — —
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No. FEAE IHT4H BIEARA b No. — (Bo/or?] | 5KE | BME
146 |G - 11 BRE mAloER | 6 30 <6.02E-01 — —
147 {F - 1t BRE HlmEE | 6 20 <6.02E-01 - —
148 |G - 1t BERE WS ER k]| o6 30 <6.02E-M - —
149 |F - 1t BRE Bl ERTE] 6 30 <6.02E-01 — —
150 |G - 11 EBARE HAloERHE] 6 i5 <6.02E-01 — —
151 [F - 11 EAE BHSERFH] 6 20 <6.02E-01 — —
152 {G -~ ERE HERERE, 6 40 <6.02E-01 — —
153 {D - 14 BAE EEEm E | 6 25 <6.02E-01 — o
154 |[E — 14 BRE TEEE £ 6 25 <6.02E-01 — -
155 |F - 14 BRE TEERE L 6 30 <6.02E-01 — -
156 |G —~ 14 BRE TEERH L 6 15 <6.02E-01 — —
157 |G - 13 BRE je—h8g - 8 35 <B.02E-01 — —
188 [F - 13 BRE mERYE—ME L] 6 35 <6.02E-01 — —
159 {¢ - 13 BRE mrEyE—+E k| 6 20 <6.02E-0t — —
160 |D - 13 EEE mENE-FE L] 6 25 <8.02E-01 — —
161 |E - 13 BRE YTt L] 8 20 <8.02E-01 — —
162 |C - 13 BRE wEAE—E E| 6 35 <8.02E-01 — —
163 |C - 13 ERE LEMUT—MEE| 6 15 <8.02E-01 — —
164 [D — 12 BAE LEMUE— MR E] 6 30 <6.02E-01 — -
165 {E — 12 BRE LtEEUE—MEE] 6 15 <6.02E-01 — —
166 {E — 12 BRE dE@oe—rE H 8 30 <B.02E-01 - -
167 [F ~ 12 BRE by E—rag £l 6 30 <6.02E-01 — —
168 |G — 12 BRE deEEE—E ] B 30 <6.02E-01 — —
168 |G ~- 13 ERE HEMYE—MERE| 6 40 <6.02E-01 — —
170 [D - 13 BERE - w6 45 <6.02E-01 — —
171 [E - 13 BmRE HENUT_MERE| B 30 <6.02E-01 — —
172 ¢ - 13 BRE WEEUE— | 6 35 <6.02E-01 — -
173 |6 - 12 BRE EHEEUTMERE| 6 25 <6.02E-01 — —
174 |g - 12 ERE Jmye—ralkm| 6 30 <6.02E-01 — —
175 |E - 12 EaH dEE)E—HERTE| 6 30 <6.02E-01 — —
176 |F - 12 ERE dEEE—rRkE| 6 20 <6.02E-01 - —
177 |E - 12 EmRAE FEEE) T EE| 6 25 <6.02E-01 — —
178 |F - 12 BRE tEGiE—rREE| 6 25 <6.02E-01 — —
179 1 - 12 BEE LEAE—HET| 6 20 <6.02E-01 ~— —
180 |[E — 12 BERE LEalyE—MREEE| 6 15 <8.02E-01 — —
181 [c - 13 BRE WEMUE—ELE] 6 30 <6.02E-01 - -
182 |D ~ 13 BERE WEMUE— MELE| 6 40 <6,02E-01 — —
183 |E - 13 ERE WM E—MELE| 6 35 <6.02E-01 — —
184 |F — 13 ERE HEQT-MENE| 6 25 <6.02E-01 — —
185 |G — 13 ERE YE—hEdE | 6 40 <6.02E-01 - —
186 {F - 13 BRE DE—kRIm)] 6 30 <6.02E-01 — —
187 {F - 13 BRE WEMVEHERE] 6 25 <6.02E-01 — -
188 1F - 13 ERE mEEYTrELE] 6 30 <B.02E-01 — —
189 |G — 13 BRE mHEE—rEEE 6 40 <6.02E-01 — —
190 ]G —- 13 B HEAVEMIEE| 6 25 <B.02F-01 — —
191 /G — 13 BERE Wk E—-+EE| 6 25 <8.02E-01 - —
182 IF - 13 BRE WERUE-~EHE| 6 25 <6.02E-01 — —
193 t¢c — 12 BRE LEEE—HRET 6 15 <6.02E-01 — -
194 |c - 12 BRE IEEE— LR 6 20 <6.02E-01 — -
185 (D ~ 12 BRE EAEMYE— LT 6 20 <6.02E-01 — —
198 |E - 12 EBERE LS E—EILE] 6 30 <6.02E-01 — —
197 |F - 12 ERE LEHYE—ERE| 6 30 <B.02E-01 — —
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198 |E - 12 BERE LEMUE—-FEEE] 6 25 <B.02E-01 — —
199 {Dp - 12 BRE EEVE—EREE B 30 <8.02E-01 — —
200[C - 12 BERE HEEGE—EHE| 6 25 <8.02E-01 — —
200 IF - 13 BRAE JE—NEPEEE | 6 50 <6.02E-01 — —
202 |F - 13 BERE JE—HIEfgm | 6 25 <8.02E-01 - —
203 |G - 13 BRE YE—HEEmE| 6 30 <B.02E-01 — —
204 |F - 13 ERE JE-~HEHME | 6 45 <6.02E-01 - —
205 (G - 13 BAE Ik PR 6 35 <6.02E-01 . —
206 |H —~ 13 BRE P ES 6 30 <6.02E-01 - -
207 |D - 14 ERE TEik{wErang | 6 30 <6.02E-01 — —
208 (D - 14 BRE THEREm ]| 6 25 ¢6.02E-01 — —
209 [E - 14 BRE TENEm| 6 30 <6,02E-01 — —
2101 F - 14 BRE TELEEm| 6 30 <6.02E-01 — —
211 |G - 14 BRE TEMELm| 6 25 <6.02E-01 — —
212 1G - 14 BAE FERIWEm | 6 30 <6.02E-01 — —
213 (D ~ 15 ERE EFERIFREE | 6 20 <6.02E-01 — —
214 |E - 15 BRAE LR | 6 35 <6.02E-01 — —
215 |F — 15 BAE TEREREm | 6 45 <6.02E-01 — —
216 (G - 15 BRAE LEkimmmE | 6 25 <6.02E-01 - —
217 |D -~ 1t BRE YR A Ay 6 40 <6.02E-01 P -
218 {D - 11 BERE “EERTE LG 6 40 <6.02E-01 - -
219 |G - 13 ERE SEHMER () 6 30 <6.02E-01 - v
220 |G - 13 ERE HLER (R 6 30 <6.02E-01 — —
221 {B - 15 ERE [ P 6 55 ¢6.02E-01 — -
222 {B - 15 BRE “HREELEl 6 45 <6.02E-01 — —
223 |G - 15 B Bh ok FR 6 35 <6.02E-01 — —
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fE % # 4 1T BEAFEER DRRYe - e - Y — A 255 (H27) RWA% & B150W0
VEZES T BEEIP R 2FL HEEA O v BAIF O #Ab
e BTSRRI — WS | s
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No. | [EE4E TYFH b 7 S e Toom] | [Ba/or?] | KT | NI
1P - 1 A—TA)T4E 73 6 30 <6.02E-01 — —
2 |p - 2 A—TA)T1E 7 6 35 <6.02E-01 — —
3 /@ - 1 A—TA)TAE & 6 20 <6.02E-01 — —
4 |l - 2 A—FA)T4E |73 6 40 <6.02E-01 — —
5 |R - 1 A—T4)TAE 73 6 20 <6.02E-01 — —
6 |[R - 2 A—T4) T4 73 6 30 <6.02E-01 — —
7 |s - 1 A—TA)TAE R 6 30 <6.02E-01 — —
8 |[s - 2 A—TAYTA=E 73 6 25 <6.02E-01 — —
9 |T - 1 A —TH TR Z 6 30 <6.02E-01 — —
10 [T - 2 A—TA)TAE 3 6 20 <6.02E-01 — —
11 [u - 1 A—TA)TAE 73 6 20 <6.02E-01 — —
12 (U - 2 A—TA)TAE [FS 6 30 <6.02E-01 — —
13 [P - 1 A—TA)TAE BEL 6 25 <6.02E-01 — —
14 |P - 1 A—TA)TAE BETR 6 30 <6.02E-01 — —
15 [P - 2 A—FA)TAE BE7H 6 25 <6.02E-01 — o
16 |Pp - 2 A—TFTA)TAE B Ry 6 35 <6.02E-01 — —
17 |Q@ - 1 A—FA)TAE BEL 6 25 <6.02E-01 — —
18 |Q - 2 A—T4)T4E BERg 6 30 <6.02E-01 — —
19 |R - 1 I—FA)TAE B 6 40 <6.02E-01 — —
20 [R - 2 A—TA)TAE BERg 6 40 <6.02E-01 — —
21 |s - 1 A—T4UTAE Bt it 6 30 <6.02E-01 — —
22 [s - 2 A—TA)T4E By 6 35 <6.02E-01 — —
23 |T - 1 A—T4)T4%E BE L 6 35 <6.02E-01 — —
24 | T - 2 A—TA)TAE BEEg 6 40 <6.02E-01 — —
25 (U - 1 A—TA)T1E BEL 6 25 <6.02E-01 — —
26 (U - 1 A—FA)TAE BEH 6 30 <6.02E-01 — —
27 (U - 2 A—TA4)T4E BFE 6 30 <6.02E-01 — —
28 |U - 2 A—FA)TAE BER 6 35 <6.02E-01 — —
29 |T - 2 A—FA)T4E I 6 20 <6.02E-01 — —
30 |U - 1 A—FA)TAE Xt 6 30 <6.02E-01 — -
31 |s - 2 A—T4)T4E KF 6 20 <6.02E-01 — —
32 [R - 1 A—FA)TAE K 6 20 <6.02E-01 — —
33 [P - 1 A—FTATAE Kt 6 45 <6.02E-01 — —
34 [R - 2 A—FA)TAE K 6 20 <6.02E-01 — —
3/ (U - 2 A—T4)T4E KH 6 25 <6.02E-01 — —
3% |Q - 1 A—TA) T4 K 6 50 <6.02E-01 — —
37 [s - 1 A—TA)TAE xH 6 25 <6.02E-01 — —
38 [ - 2 A—TA)T4E xH 6 10 <6.02E-01 — —
39 [p - 2 A—TA)TAE xH 6 25 <6.02E-01 — —
40 [T - 1 A—TA)TAE XH 6 10 <6.02E-01 — —
41 - A—TA)TAE i [lva 6 30 <6.02E-01 — —
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No. |y IFH AEARA 2R No. Topml [Ba/em?] | AE | &/VE
42 IR - 2 A—TATAE IN) 8 30 <6.02E-01 — —
43 |p - 2 T )TAE AV il 6 35 <6.02E-01 - —
4 |s - 2 I—TA)TAE AV ) 6 25 <6.02E-01 — —
45 (U - 2 AT )JFAE N 6 30 <8.02E-01 — —
46 {T - 2| IA—FATFAE N7 6 25 <6.02E-01 — —
47 . 1Q — 2 A—TA)TF1E LT 6 20 <6.02E-01 — -
48 jq —- 1 A—F4UF4F | ZREEEALRE 6 15 <6.02E-01 — —
49 |qQ - 1 A—FqTrE | EREERATER| 6 45 <6.02E-01 — -
5 |g - 1 A—FT4VT4E |RREHEBAER] 6 30 <6.02E-01 — —
51 @ - 2| dA—T407T4% |[ZEEHEBAERN 6 20 <6.02E-01 — —
52 |G - 2 A—T)T4E |ZEREGBARN 6 40 <6.02E-01 — —
53 |Q - 2 I—TA)T4E [ ERERBATE 6 25 <8.02E-01 — —
54 |R - 1 I—TAVT4F |ZEREEEeIE| 6 35 <6.02E-01 o .
55 |R - 1 I—TAUTA4E [ BREHEETER] 6 30 <6.02E-01 — -
5% |R - 1 AT )T |ETTHEHEBEE] 6 40 <8.02E-01 — -
57 |[R - 2 A—FA)TF4F |REEHEEsAEE] 6 35 <6.02E-01 — —
58 |R — 2 A—F()T4E | REIEEBEE] 6 20 <8.02E-01 — —
5 |R - 2 A—T4)T4F |RERTHEBHEE] 6 30 <6.02E-01 — —
60 [s -~ 1 I—FqUT4E | EREmEcku| 6 25 <6.02E-01 — —
61 [s - 1 A—F4UT428 | EmEcHEal| 6 50 <6.02E-01 — —
62 |s - 1 A—FA)TA4E |EREEEcEm| 6 30 <6.02E-01 — —
63 |8 - 2 A—TA)T4F | LEKIEEECED]| 6 25 <6.02E-01 — —
64 |S - 2 I—T4A)T4E [ TERIEESCcEN] 6 30 <6.02E-01 — —
65 | T - 1 A—TAUTAE HilfHaE 6 35 <6.02E-01 — —
66 {T - 1 I—TAT4E s 8 35 <6.02E-01 — —
67 1T - 1 A—TA)TAE Bl 6 35 <6.02E-01 — —
68 |T - 2 I—TAUT4E |EEesridem] 6 25 <6.02E-01 — —
69 |T - 2 A—T)F1E |IEHRSEEER] 6 35 <8.02E-01 - -
0 [T - 2 A—TF )74 |EmesmEsEn] 6 30 <6.02E-01 - -
T |T - 2 A—FL)F0E | EHTERIEEAL 6 40 <8.02E-01 — —
72 |u - 2 dA—T4)TF14E |REEER Y] 6 40 <6.02E-01 - -
73 - A—F)T1E | RREHEEALL 6 30 <6.02E-01 - -
74 - A—FqUT4E |RREMEEBLE| 6 25 <8.02E-01 — —
75 - A—74NT4E |HEKEHEHCE| 6 20 <6.02E-01 — -
61T - 2 A—TA)TAE fils 6 45 <6.02E-01 — —
77 (U - 1 I—TA) T4 KA 6 a0 <6.02E-01 — —
78 [T - 1 I—TATAE BIRE 6 20 <6.02E-01 — —
79 (8 - 1 A—TAUTAE N} 6 25 <8.02E-01 — —
80 |s - 2 I—TA)TAE | RREmSCHEE| 6 30 <6.02E-01 — —
81 {u - 2 A—TATAE [Fl=3 6 40 <6.02E-01 — —
82 IR - 1 deeifg ) op g EiRE 8 30 <B.02E-0 - —
83 IR - 2 A—TAYTAE [ 6 40 <6.02E-01 - -
84 |Q — A—TA)TFAE SRR 8 40 <6.02E-01 e e
85 Ip - 2 A—TA4)FAE SHMSR 8 30 <8.02E-01 — -
8 |Q —~ 2 A—TA)FAE B 6 45 <6.02E-01 — e
87 [P - 1 A—TFT4)T4E A 6 45 <6.02E-01 - —
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No. PEAE TT 4 AIEARA R No. Topm] [Ba/cm?] | BAIE | B/ME
1 |D - 2 avA—x7 KH 5 30 <6.90E-01 — —
2 |B - 3 Byh—IUT KH 5 25 <6.90E-01 — —
3 |c - 3 Owvh—ITF K 5 30 <6.90E-01 — -
4 |C - 4 AOyA—I)7 KH 5 35 <6.90E-01 — —
5 |B - 2 avAh—IF xH 5 25 <6.90E-01 — —
6 |D - 3 AyH—TF7 xH 5 15 <6.90E-01 — —
7 |c - 2 Ayh—I7F KH 5 35 <6.90E-01 — —
8 [B - 6 Owh—IY7 xH 5 30 <6.90E-01 - —
9 |[B - 5 avyA—I7 *H 5 35 <6.90E-01 — —
10 |D - 7 aOvh—I7 XH 5 35 <6.90E-01 — —
11 [D - 5 ovh—xU7F XH 5 30 <6.90E-01 — —
12 |[D - 4 OvA—xI!7 xH 5 30 <6.90E-01 — —
13 |[D - 8 awhA—IF KH 5 30 <6.90E-01 — —
14 ¢ - 7 Avh—IF XH 5 25 <6.90E-01 — —
15 [C - 8 Awh—I)7 KH 5 25 <6.90E-01 — —
16 |Cc - 9 OyAh—I7 xH 5 25 <6.90E-01 — —
17 |B - 4 Ayh—x T KH 5 25 <6.90E-01 — —
18 |D - 6 ayh—x)F XH 5 20 <6.90E-01 — —
19 |B - 7 Ayh—IF xH 5 20 <6.90E-01 — —
20 |D - 9 Ovh—I7 XH 5 35 <6.90E-01 — —
21 [B - 8 avh—TU7 KH 5 40 <6.90E-01 — —
22 [B - 10 Ovh—1U7 xH 5 35 <6.90E-01 — -
23 |Cc - 10 OvA—IU7F XH 5 30 <6.90E-01 — —
24 [B - 9 ayh—xI)7 KFH 5 25 <6.90E-01 — —
25 |Cc - 5 AvyAh—xI!)7 KH 5 35 <6.90E-01 — —
26 |C - 6 Ovh—I¥F KH 5 30 <6.90E-01 — —
27 |[D - 10 Hwh—I7T xH 5 30 <6.90E-01 — —
28 |D - 2 Oyh—I7F B 5 35 <6.90E-01 — —
29 [D - 2 Avh—x7 B 5 25 <6.90E-01 — —
30 |D - 3 Ayh—I 7T BFER 5 25 <6.90E-01 - -
31 |D - 4 Hwh—xl) 7 BER 5 25 <6.90E-01 — —
32 D - 5 Avh—IY7F BET 5 45 <6.90E-01 — —
33 [D - & Avh—xF BEER 5 30 <6.90E-01 - —
34 |D - 7 Owvh—xl7 BEE 5 50 <6.90E-01 — —
3 (D - 8 Oyh—I7 BETR 5 40 <6.90E-01 — —
36 [c - 9 AvAh—xl7 BERg 5 35 <6.90E-01 — —
37 |D - 9 Ovh—IY7 B2y 5 35 <6.90E-01 — —
38 |c - 9 Ovh—Il7 BEER 5 35 <6.90E-01 — —
39 |D - 9 OvA—I!7 BEER 5 15 <6.90E-01 — —
40 |c - 10 Oyh—T7F BEER 5 25 <6.90E-01 — —
4 ¢ - 10 Avh—T7F BERY 5 15 <6.90E-01 — -
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No. | PE#E TYTH AERAE |7 Toon] | [Ba/on?] | BAfE | 5/ME
42 1B - 10 Oyh—1)7 E] 5 15 <6.90E-01 — -
43 |B - 10 Awh—Iy7F EE Py 5 20 <6.90E-01 — —
4 |B - 9 Awh—xH 7 i) 5 35 <6.90E-01 — —
45 |B - 8 Hyh—TEYF BEG 5 15 <6.90E-01 — —
4 (B - 7 Oyh—IHF7 i 5 40 <6.90E-01 — o
47 |B -~ 6 OvhA—I)7 BEPH 5 25 <8.90E-01 - —
48 [B - 5 AvA—TJ7 i) 5 30 <6.90E-01 - —
49 1B - 4 Byh—ITF BEPY 5 25 <6.90E-01 — —
50 IB - 3 Bhwh—I!7 ] 5 30 <6.90E-01 — -
51 |B - 2 owh—I7F7 BEPH 5 15 <6.90F-01 — —
52 {8 - 2 Ayh—11) T B 5 30 <6.90E-01 — —
53 ¢ - 2 Avh—x7 Bt 5 40 <6.90E-01 — —
54 |B - 7 Owh—IHF R 5 15 <8.90E-01 e —
55 |D — 6 Qwh—xH7F K 5 50 <6.90E-01 — —
5 |C ~ 6 Ovh—TIH7 73 5 30 <6.90E-01 — —
57 |B — 6 avh—x1)7 17 5 30 <6.90E-01 — e
58 |D ~ 5 OvA—I)F 73 5 15 <6.90E-01 — —
59 |G - 5 gvh—ITF 73 5 30 <6.90E-01 — —
60 {B ~ 5 Byh—1I)F7 7 5 20 <6.90E-01 — —
61 |D - 4 Lhyh—TYF i 5 50 <6.90E-01 — -
62 [C — 4 Owh—I)F 73 5 35 <6.90F-01 — —
63 (B - 4 Ayh—T 7 ES 5 50 <6.90E-01 — —
64 |C - 3 AyH—IF K 5 30 <6.90E-01 — —
65 {D - 3 awh—IHF K 5 35 <6.90E-01 — —
66 |B — 3 Qyh—xF 73 5 25 <6.90E-01 — —
87 |D - 2 Owh—1y7 73 5 25 <6.90E-01 — —
68 |Cc - 2 Owh—I)7 E 5 35 <6.90E-01 - —
89 |B ~ 2 avh—xI)7 73 5 40 <6.80E-01 — —
70 |G - 10 AvA—T)F %3 5 30 <6.90E-01 — —
71 1B - 10 ovh—IF I 5 40 <6.90E-01 . e
72 {D - 9 awh—T7F 73 5 25 <6.90E-01 — —
73 1c - 9 HwhA—TIF 73 5 35 <6.90E-01 — —
74 IB - 9 Hyh—Ty7 [Z3 5 35 <6.90E-01 - -
75 D - 8 HwhA—IF 73 5 30 <6.90E-01 - —
76 |[C - 8 Owh—I) 7 73 5 40 <6.90E-01 — —
77 |B - 8 Aty 7 73 5 50 <6.90E-01 — —
8 [p - 7 Byh—I )7 7 5 25 <6.90E-01 — —
7% {c - 7 owh—IYF IR 5 20 <6.90E-01 — —
80 - Ouh—xIy7 B L1 5 15 <6.90E-01 — —
81 - Ovh—IH7F EHi 2 5 45 <6.90E-01 — —
82 |C - 6 Oyh—IY7 fFEE & 5 15 <8.90E-01 - —
83 |B - 6 OvAh—x)7 fE¥H 7 5 25 <6.90E-01 — —
84 |B - 7 avh—3)7 Oovhi—f@ E| 5 45 <6.90E-01 — —
85 |B - 7 ovh—x7 BAwh— e Ef 5 30 <6.90E-01 — —
86 |C - 7 gvh—1U7F Ovh—®&E k| 5 35 <6.90E-01 - —
87 {¢c - 7 Bvh—LFp ayh— g E| 5 30 <6.90E-01 — —
88 1B - 10 gwh-—TIJF JH KRR 5 25 <6.90E-01 — —
8 {C - 10 Owh—I7F HEs 5 30 <6.90E-01 — -
90 ¢ - 5 owh—IYU7F nvh—k~1FE8 A 5 25 <6.90E-01 - —
9t |[B ~ & Awh—T7F Ouh—d~18EB E| 5 20 <6.90E-01 - —
92 1 - 4 Ovh—x7 nvh—it~258 &| 5 40 <6.90E-01 — —
93 |B - 4 Avh—IY7 oyvh—db~25E £| 5§ 20 <6.90E-01 o —
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N e 4 M RNFEDE R &8y Sv/h]
N . T~ II ‘gi 7By = =
o | EER 74 BERA N Toom] | (Ba/on?] | BKIE | BME
94 iCc - 3 bavwh—TY7F Ouh—dt~35B &| 5 20 <6.90E-01 — —
95 iB - 3 Owh—I7F Avh—d~38E %| 5 35 <6.90E-01 — —
%6 B — 1 Awh—r11) 7 Ouh—dt~48E H| 5 35 <6.90E-01 —_ -
97 I{B - 2 Ovh—I7 nvh—dt~adg x| 5 30 <B.90E-01 — —
/
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E % # 4 1F BEEMF R R OFRYe 35 4 - — 1 2656 (H27) RWAE S B150W0
==""nn HEHA T R 3FL HEEB(O v MAI7 O FAb
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KRG
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No. | FEE{Z TY74 BIERAS |7 oom] | Ba/or?l | BXTE | BNE
1 |[E - 14 fa == (FFED IF3 5 40 <6.90E-01 - —
2 |[F - 15 &2 (FaD [73 5 30 <6.90E-01 — —
3 |F - 14 e xE (FaD K 5 30 <6.90E-01 — —
4 |E - 15 R (FED 73 5 50 <6.90E-01 — —
5 |E - 14 faxE (a0 B 5 40 <6.90E-01 — —
6 |E — 14 RS (FFAI BE it 5 15 <6.90E-01 — —
7 |E - 14 R ZE (FFan BETR 5 50 <6.90E-01 - -
8 |[F - 14 = () B 5 35 <6.90E-01 — —
9 |F - 14 HREFaD BEER 5 30 <6.90E-01 — —
10 |E - 15 FAEEE (Fai) BEEg 5 35 <6.90E-01 — —
i1 |E - 15 FA = (Fan BETH 5 30 <6.90E-01 — —
12 |F - 15 ¥ EE (Fan By 5 50 <6.90E-01 — —
13 |F - 15 AR (A BEEL 5 25 <6.90E-01 — —
14 |F - 15 A= (HE) IF3 5 25 <6.90E-01 — —
15 [F - 14 RS (H) R 5 40 <6.90E-01 — —
16 |G - 15 AR E (M) IF3 5 35 <6.90E-01 — —
17 |G - 14 R E () [73 5 20 <6.90E-01 — —
18 |H - 15 fam = (M) 7 5 35 <6.90F-01 — —
19 |H - 14 MR () £ 3 5 50 <6.90E-01 — —
20 |H - 14 A= (H) xH 5 30 <6.90E-01 — —
21 |[H - 15 faSE (1) xH 5 25 <6.90E-01 — —
22 |[F - 14 mRE (%) Bk 5 30 <6.90E-01 - —
23 |F - 14 HMRE(R) ] 5 30 <6.90E-01 — —
24 |G - 14 R () B 5 25 <6.90E-01 - —
25 |H - 14 s = (8) B ip 5 25 <6.90E-01 — —
26 |H - 14 AR (B) BHEL 5 30 <6.90E-01 — —
27 |F - 15 R E (B’) By 5 25 <6.90E-01 — —
28 |F - 15 S (B) BET 5 30 <6.90E-01 — —
29 |G - 15 fasE (H) BEEg 5 25 <6.90E-01 — —
30 [H - 15 AR (H) BEE 5 10 <6.90E-01 — —
31 |H - 15 faRE(H) BEE 5 35 <6.90E-01 — —
32 |G - 15 FREEE () BEH 5 25 <6.90E-01 — -




B B

RL

(1 /1)
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No. JEEAE TUTH BERA - No. [eoml [Ba/on’] | BAE | B/ME
1 |B - 13 HEE & 5 30 <6.90E-01 — —
2 |[F - 13 HEE & 5 35 <6.90E-01 — —
3 |[E - 13 HEE R 5 30 <6.90E-01 — —
5 [D - 13 WEE R 5 30 <6.90E-01 — —
4 [Cc - 13 HEE 7 5 35 <6.90E-01 — —
6 [c - 13 BEE xH 5 20 <6.90E-01 — —
7 |B - 13 BE=E RHF 5 30 <6.90E-01 — —
8 |D - 13 BEE K 5 25 <6.90E-01 — —
9 |E - 13 BEE I 5 35 <6.90E-01 — —
10 |F - 13 HEE KH 5 35 <6.90E-01 — -
i1 |[B - 13 HEE B 5 25 <6.90E-01 — —
12 [B - 13 HE=E ] 5 25 <6.90E-01 — —
13 [B - 13 HEE BEE 5 25 <6.90E-01 — —
14 |c - 13 HEE BEIL 5 35 <6.90E-01 — —
15 |[c - 13 HEE ] 5 40 <6.90E-01 — —
16 |D - 13 HEE B 5 25 <6.90E-01 — —
17 |D - 13 WEE ] 5 40 <6.90E-01 — —
18 |E - 13 WEE Bt 5 30 <6.90E-01 — —
19 |E - 13 WEE ] 5 50 <6.90E-01 — —
20 [F - 13 HEE BEdL 5 45 <6.90E-01 — —
21 |g - 13 HEE BEER 5 40 <6.90E-01 — -
22 |F - 13 HE=E BERg 5 30 <6.90E-01 — —
23 |B - 13 HEEE (L) S 5 25 <6.90E-01 — —
24 |G - 13 HIEE (L) & 5 20 <6.90E-01 — —
25 [D - 13 ¥WEE (L) & 5 30 <6.90E-01 — —
26 |[E - 13 BEZE(L) IF3 5 45 <6.90E-01 — —
27 |F - 13 HWEE(L) 73 5 40 <6.90E-01 — —
28 |G — 13 BEE B2k 5 40 <6.90E-01 — —
29 [G - 13 HE= BER 5 35 <6.90E-01 - —
30 |G - 13 BIEE 73 5 45 <6.90E-01 — —
31 |G - 13 HEE xH 5 30 <6.90E-01 — —
/
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& % i 4 1F BEANFBR DRRYL - 384 « P — A HFE (H27) RWAZE 5 B150W0
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No. PEE I)7 4 BIERAE |7 [epm] | [Ba/om?] | BAIE | B/ME
1 |G - 5 CO2iRAE B 5 25 <6.90E-01 — =
2 |F - 5 CO2iR s REE 73 5 35 <6.90E-01 — —
3 |E - 5 CO2IRARE R 5 45 <6.90E-01 — —
4 |[F - 5 CO2RRE 2 5 15 <6.90E-01 — —
5 |F - 5 CO2iR L RE HkBSys(dLE)| 5 30 <6.90E-01 — -
6 |F - 5 CO2iR ARE HkESvs (FE)| 5 35 <6.90E-01 — —
7 |F - 5 CO2iRAE Rzl ()| 6 40 <6.90E-01 o —
8 |[F - 5 CO2iR AR R AdiF| (JbE) | 5 20 <6.90E-01 — —
9 |F - 5 CO2IRAE R AE 5 5 15 <6.90E-01 — -
10 [G - 5 CO2RAE K3 5 30 <6.90E-01 — —
11 |F - 5 CO2iR A2 xH 5 30 <6.90E-01 — —
12 |E - 5 CO2:RARE xH 5 40 <6.90E-01 — —
13 |G - 5 CO2iR ARE BER 5 35 <6.90E-01 — —
14 |F - 5 CO2:RAE BER 5 35 <6.90E-01 — —
15 |E - 5 CO27RAE BEmg 5 30 <6.90E-01 — —
i6 |E - 5 CO2RUAE BEFR 5 20 <6.90E-01 — —
17 |E - 5 CO2TRAE Bk 5 20 <6.90E-01 — —
i8 [F - 5 CO2ARUAE BE4L 5 20 <6.90E-01 — —
19 |G - 5 CO2iRARE Bk 5 25 <6.90E-01 — —
20 |G - 5 CO2RAE BEER 5 30 <6.90E-01 — =
21 |H - 5| CO2RUARERIRET 73 5 40 <6.90E-01 — —
22 |H - 5| CO2RUAERIMT |HAEIL—ILE| 5 35 <6.90E-01 — —
23 |H - 5| CO2IRVAZERIEET FH: 5 25 <6.90E-01 = —
24 |H - 5| CO2ZRVARERIEGT BYE 5 25 <6.90E-01 — -
25 [H - 5| CO2ZRUAZERIET BETH 5 15 <6.90E-01 — —
26 |H - 5| CO2RRUAZERIET BE L 5 30 <6.90E-01 — —
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116G - 1 BT P ia 6 30 <6.02E-01 — -
2 |g - 1 BIE R HNES 6 35 <6.02E-01 — —
3 |g - 1 BAEEE FE 6 30 <6.02E-01 - -
4 |g - 1 B BEER 6 30 <6.02E-01 — —
5 |Gg - 1 AT BER 6 15 <6.02E-01 — —
6 |G - 1 BAEEE EE7H 6 20 <6.02E-01 — —
7 g - 1 L =R Bt 6 20 <6.02E-01 — —
8 |G - 1 BA Y = SH K AR 6 20 <6.02E-01 — —
9 (g - 1 HHim= R 6 25 <6.02E-01 — —
10 (6 - 1 Him=E xH# 6 10 <6.02E-01 — —
11 (g - 1 = BEER 6 20 <6.02E-01 — —
12 |G - 1 = BEm 6 25 <6.02E-01 — —
13 |G - 1 HimE i) 6 20 <6.02E-01 — —
14 |G - 1 iz Bk 6 25 <6.02E-01 — —
15 |G - 3 {RRR= (1) 73 6 20 <6.02E-01 — —
16 |F - 3 RERZ= (1) FE 6 20 <6.02E-01 - -
17 |G - 4 {RARZ (2) E 6 45 <6.02E-01 — —
18 |F - 4 RERZE(2) 7 6 20 <6.02E-01 — —
19 [F - 3 {RERZE (1) B R 6 30 <6.02E-01 — —
20 |G - 3 RBRZ= (1) B EL 6 30 <6.02E-01 — —
21 |g - 3 {RERZE (1) BER 6 35 <6.02E-01 — —
2 |F - 3 RARZE (1) BERY 6 35 <6.02E-01 — —
23 |F - 3 AR ZE (1) B 6 15 <6.02E-01 — =
24 |G - 3 R AREE (1) Bt 6 30 <6.02E-01 — —
25 |G - 4 i BRZE (2) B 6 25 <6.02E-01 — -
26 [F - 4 AR (2) BE TG 6 20 <6.02E-01 — —
27 |G - 4 {RAR=E (2) ] 6 40 <6.02E-01 — —
28 |F - 4 {RARZE (2) BERg 6 25 <6.02E-01 — —
29 |F - 4 RIRZE (2) Bk 6 35 <6.02E-01 — -
30 (g - 4 RARZE (2) BEAL 8 30 <6.02E-01 — —
31 |[F - 3 RIRZ= (1) X 6 25 <6.02E-01 - —
32 [ - 3 {REREE (1) FH 6 25 <6.02E-01 — —
33 [F - 4 {REEZE (2) X 6 25 <6.02E-01 — —
34 |g - 4 REREE (2) XH 6 20 <6.02E-01 — —
35 |F - 3 SR %3 6 10 <6.02E-01 — —
36 |E - 3 =ik 7S 6 30 <6.02E-01 — —
37 |pD - 3 TR 3 6 50 <6.02E-01 — —
38 |F - 3 SEE BEH 6 15 <6.02E-01 — —
39 |[F - 3 e Bt 6 25 <6.02E-01 - —
40 |E - 3 BEE ] 6 35 <6.02E-01 — —
41 |D - 3 EEE By 6 30 <6.02E-01 — —
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42 Ip - 3 =i i 6 30 <6.02E-01 — —
43 D - 3 i B 6 25 <6.02E-01 — —
4 |E - 3 =i Bt 6 30 <6.02E-01 - —
45 |[F - 3 ik b4 6 35 <6.02E-01 — —
46 (D - 3 e KH 6 25 <6.02E-01 — -
47 |E - 3 SRR K+ 6 30 <6.02E-01 — —
4 |F -~ 3 REEE KH 6 30 <6.02E-01 — -
49 ID - 5 £ BEP 6 30 <B.02E-01 — —
5 [D - 5 R BER 6 35 <6.02E-01 — —
51 |[E - 5 EE BEE 6 30 <8.02E-01 — —
52 |[E - 5 £[E BEEy 6 35 <6.02E-01 — —
53 |[E - 5 2 BE 6 25 <6.02E-01 — —
5 |D - 5 EE Bt 6 50 <6.02E-01 — —
55 (D - 5 EE 75 6 25 <6.02E-01 — —
5% |E - 5 £ [ 6 30 <6.02E-01 - —
57 ID —~ 5 g x#H 6 30 <6.02E-01 - —
58 IE —- 5 2E KHF 6 20 <6.02E-01 — —
59 ID ~ 1 {REEZE I£3 8 40 <6.02E-01 — e
80 [E - 1 S CES 73 6 25 <6.02E-01 — —
61 |F - 1 {REEE IR 6 30 <6.02E-01 — —
62 [D - 1 {REAZE BERE 6 40 <6.02E-01 — —
63 |F - 1 HREIE BEE 6 30 <6.02E-01 — —
64 [D - 1 HRE=E BEP 6 30 <8.02E-01 — —
65 [E - 1 LS ES BER 6 15 <6.02E-01 — —
86 |F - AE=E BEEg 6 35 <6.02E-01 — —
67 |F - 1 AEAE Bl 6 25 <6.02E-01 — —
68 |E — 1 {RERZE B2k 6 30 <6.02E-01 — —
69 1D - 1 {hEa= Bt 6 20 <6.02E-01 — —
70 |D -~ 1 {REAE XH 6 20 <6.02E-01 — —
M1 JE - 1 {REEE K 6 35 <6.02E-01 — —
72 IF ~ 1 {REEZE KH 6 15 <6.02E-01 — —
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No. | E4E IUTH BIERAE |5 Toom] | [Ba/or?] | BAIE | IeNE
1 |B - 3 il fH = * 5 25 <6.90E-01 — —
2 |B - 2 LS R 5 30 <6.90E-01 — —
3 D~ 1 hilfE = 73 5 40 <6.90E-01 — —
4 [c - 1 il fEn == 7S 5 20 <6.90E-01 — =
5 |B - 1 = FE 5 25 <6.90E-01 — —
6 |B - 5 llfH = 73 5 35 <6.90E-01 — —
7 |p - 5 FIFES R 5 30 <6.90E-01 — —
8 [c -5 kil FE 5 30 <6.90E-01 — —
9 [D - 4 wn= R 5 25 <6.90E-01 — —
10 |C - 2 Fl = IE3 5 25 <6.90E-01 — —
11 ]|c - 4 il = R 5 25 <6.90E-01 — —
12 |¢c - 3 il = 73 5 35 <6.90E-01 — —
13 |[D - 3 il {E 2 R 5 30 <6.90E-01 — —
14 (B - 4 il = & 5 40 <6.90E-01 — —
15 [D - 2 Hill{En=E i)z 5 35 <6.90E-01 — —
16 [D - 2 il fE 2 [ifET) 7S 5 35 <6.90E-01 - -
17 |[D - 2 il fE == AR 5 20 <6.90E-01 — —
18 |[D - 5 il fE 2 BEEY 5 20 <6.90E-01 — —
19 |[c - 5 il fE == BER 5 40 <6.90E-01 — —
20 |[B - 5 il fEn == B 5 25 <6.90E-01 — —
21 |B - 5 il fE = B 5 30 <6.90E-01 — —
22 [B - 3 il = BEph 5 40 <6.90E-01 — -
23 |B - 4 = BET 5 25 <6.90E-01 — —
24 |B - 2 il = BET 5 30 <6.90E-01 - —
25 |B - 1 il fE = BEVY 5 50 <6.90E-01 — —
26 |B - 1 il == Bk 5 25 <6.90E-01 - -
27 |c - 1 il fE = BEdL 5 25 <6.90E-01 — —
28 |D - 1 il fENEE B2k 5 25 <6.90E-01 — —
29 |D - 1 il fEn = B¥ER 5 40 <6.90E-01 — -
30 [D - 2 il {En = BEER 5 15 <6.90E-01 — —
31 |D - 3 il {E= B¥EL 5 35 <6.90E-01 — —
32 [D - 4 = BEER 5 50 <6.90E-01 — —
33 |[D - 5 il = BEER 5 45 <6.90E-01 — —
34 |B - 1 Hl{EE KH 5 40 <6.90E-01 — —
35 [B - 2 il fE = K3 5 35 <6.90E-01 — —
36 |B - 3 il = XHF 5 30 <6.90E-01 — —
37 |B - 4 il EE xFH 5 30 <6.90E-01 — —
38 |B - 5 ke X3 5 35 <6.90E-01 — —
39 |c - 1 il = xH 5 35 <6.90E-01 — —
40 |Cc - 2 = XH 5 30 <6.90E-01 — —
41 |c - 3 il i = EH 5 40 <6.90E-01 - —
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No. | [B4Z all g AERAE |5 ool | [Ba/ i & BIE
42 |c - 4 i ki K 5 35 <6.90E-01 — —
43 |C - 5 HIH=E KH 5 20 <6.90E-01 — —
44 |D - 1 FZE KIFF 5 50 <6.90E-01 — —
45 |p - 2 = xIH 5 40 <8.90E-01 - —
46 |p - 3 paEiES EH 5 35 <6.90E-01 — —
47 |D -~ 4 = XIH 5 10 <8.90E—01 — -
4 |b - 5 Tl {E1 = EIH 5 30 <6.90E-01 — —
49 [B - 1 il gH= Zul 5 40 <6.90E-01 — .
50 |B - 2 = # 5 25 <6.90E-01 — —
51 (B - 3 = o okt 5 35 <6.90E-01 — -
52 (B - 3 s Hlgnfig & | 5 45 <6.90E-01 — —
55 |B - 3 il I8 Al | 5 30 <6.90E-01 — —
54 [B - 3 HIE HlEAE Bl ] 5 25 <6.90E-01 - —
5 {B - 3 il i e of T S 25 <6.90E-01 — —
56 |[B ~ 3 gk @ A | 5 25 <6.90E-01 - —
57 |B - 4 = HlEmaE L& | b 40 <6.90E-01 — —
58 |B -~ 4 HEI= HlEpEE Am| | 5 10 <6.90E-01 — —
59 [B - 4 = fltEe Jb@ | 5 35 <6.90E-01 — —
80 [B - 4 p2kilES A A | 5 40 <6.90E-0i — —
61 |B - 4 Hi HIEREE MMl | 5 25 <6.90E-01 — -
62 |[B - 5 = Hifmes L& | 5 30 <6.90E-01 — -
63 |B - 5 = e Rl | 5 45 <6.90E-01 — —
64 |[B - 5 il HIEIEE wHEl | 5 25 <6.90E-01 — —
65 |B - 5 il T EER G 40 <6.90E-01 — —
66 |[B - 5 il EE e mE | 5 40 ¢6.90E-0t — —
67 [B - 1 i i 5 40 ¢6.90E-01 — —
68 |C - 1 RS AED 5 30 <8.90E-01 — —
69 |D - 1 BN ER JHNER 5 30 <6.90E-01 — —
70 |D - 4 HlEE HEATEIHEE| 5 25 <6.90E-01 - —
71 |D - 4 HHE APD P21#4, 5 25 <6.90E-01 - —
72 |[D - 4 FlE=E APD P22#, 5 30 <6.90E-01 - -
73 |D - 3 HlEH=E B 5 30 <6.90E-01 o —
74 |D - 3 HlE R 5 45 <6.90E-01 — —
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1 |v - 1 BRAV = R 6 45 <6.02E-01 — —
2 |v - 2 BHAOE E B 6 10 <8.02E-01 — —
3 |v - 2 BRI =E R FER 6 40 <6.02E-01 — —
4 v - 2 BMAOE F BEA 6 30 <6.02E-01 — —
5 [u - 1 BERAL IR & 6 20 <6.02E-01 — —
6 (U - 2 BhAV IR FE 6 40 <6.02E-01 — —
7 |7 -1 imA 7= 73 B 35 <6.02E-01 — —
8 |T - 2 [ ] K 6 30 <6.02E-01 — —
9 U - 2 MR IE IN>) 6 45 <6.02E-01 — —
10 |T - 2 M oE KH 6 35 <6.02E-01 — —
11 |V - 1 BHAIE FIH 6 30 <6.02E-01 — —
12 |1 - 1 BimAa o= xH 6 40 <6.02E-01 — —
13 |V - 2 BHAUIE xH 6 25 <6.02E-01 — —
14 U - 1 Bima o= XH 6 50 <6.02E-01 — —
15 |U - 2 BHAOE xH 6 30 <6.02E-01 — —
16 [v - 2 BHAVI=E BT 6 30 <6.02E-01 — —
17 |V - 2 A OE BEmE [ 30 <6.02E-01 — —
18 |U - 2 BRimA IR BER 6 25 <6.02E-01 — -
19 [T - 2 Bima = BEE 6 40 <6.02E-01 — —
2 |T - 2 BRAL IR BETH 6 35 <6.02E-01 — —
21 | T - A+ Bhav o= Ei] 6 30 <6.02E-01 - —
22 |V - BmAL o= BET 6 45 <6.02E-01 — —
23 |V - 1 BEhRA o= BEL 6 50 <6.02E-01 - —
24 U - f BRAaV o= Bk 6 30 <6.02E-01 — —
25 | T - 1 BEmAa o5 B 6 25 <6.02E-01 — —
26 |V - BHAIE JHINER 6 20 <6.02E-01 — —
27 lu - 2 PFhAa o= THREABEML sER] 6 30 <6.02E-01 — -
28 |U - 2 BihA 0= FHESERRHL ITE 6 35 <6.02E-0f1 - —
29 (U - 2 Bl U= FHREARHNI EE| 6 40 <6.02E-01 — —
30 (U - 2 BMAOE FhsERBHI T 6 30 <6.02E-01 £ -
/
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No. | HE4E TUT4 RIERA b |5 Toom] | Bo/on | BAIE | VB
T |J - 2 LZFWC & 5 25 <6.90E-01 — —
2 |H - 2 BFWC R 5 35 <6.90E-01 — —
3 (1 - 2 HFWC & 5 30 <6.90E-01 — —
4 [J - 2 LZFWC BEL 5 20 <6.90E-01 — —
5 [J - 2 ZFWC BEE 5 35 <6.90E-01 — —
6 |J - 2 ZFWC g) 5 30 <6.90E-01 — —
7 |Jd - 2 LFWC BEPH 5 15 <6.90E-01 — —
g |1 - 2 BFWC BEE 5 40 <6.90E-01 — —
9 |1 - 2 BEFWC B 5 30 <6.90E-01 — —
10 |H - 2 BIFwWe B 5 25 <6.90E-01 — —
"Ml - 2 BIFWC BEFg 5 30 <6.90E-01 — —
12 |H - 2 BIFWC BEFR 5 35 <6.90E-01 — —
13 |H - 2 BFWC BETH 5 30 <6.90E-01 — —
14 |0 - 2 DS/PS & 5 30 <6.90E-01 — —
15 [P - 2 DS/PS 53 5 25 <6.90E-01 — —
16 [P - 2 DS/PS BEL 5 35 <6.90E-01 - —
17 o - 2 DS/PS BEL 5 15 <6.90E-01 — —
18 |0 - 2 DS/PS B¥ g 5 30 <6.90E-01 — —
19 [P - 2 DS/PS BETR 5 40 <6.90E-01 — —
20 |P - 2 DS/PS BEEy 5 30 <6.90E-01 — —
21 o - 2 DS/PS BER 5 25 <6.90E-01 — —
22 |Pp - 2 DS/PS KH(BRE) 5 30 <6.90E-01 - —
23 |0 - 2 DS/PS KH (FRE) 5 35 <6.90E-01 — —
24 |H - 2 BF wC KIF 5 20 <6.90E-01 - —
25 [1 - 2 BEF we xH 5 15 <6.90F-01 — —
26 |J - 2 #ZF WC X 5 10 <6.90E-01 — —
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No. | [E#Z IYT7% BERSAE |7 Toom] | (Ba/ord] | BATE | E/ME
1 |[B - 6 fa S xFH 6 45 <6.02E-01 — —
2 B - 7 = FH 6 25 <6.02E-01 — —
3 |B - 8 S = XH 6 40 <6.02E-01 — —
4 [B - 9 o= XH 6 40 <6.02E-01 — —
5 |B - 10 bk LS K3 6 20 <6.02E-01 — —
6 [B - 11 HEMm=E xH 6 30 <6.02E-01 — —
7 |B - 12 Hmasm= K 6 30 <6.02E-01 — —
8 |C - 6 MR E KH 6 30 <6.02E-01 — —
9 |c - 7 = EE 6 20 <6.02E-01 - —
10 |c - 9 R E XH 6 30 <6.02E-01 — —
11 |Cc - 10 A E KH 6 40 <6.02E-01 — -
12 [c - 11 A SR, == EsEi 6 40 <6.02E-01 — —
13 |c - 12 = KH 6 25 <6.02E-01 — —
14 [D - 6 fa k= KH 6 50 <6.02E-01 — —
15 [D - 7 e E KH 6 45 <6.02E-01 — —
16 [D - 8 e =E KH 6 40 <6.02E-01 — —
i7 |D - 9 A= xH 6 30 <6.02E-01 — —
18 |D - 10 e S KH 6 45 <6.02E-01 — —
19 [D - 11 ATt =E xH 6 40 <6.02E-01 — —
20 |D - 12 A E XH 6 35 <6.02E-01 — —
21 |[E - 6 B =E xH 6 40 <6.02E-01 - -
22 |E - 7 o= XH 6 35 <6.02E-01 — —
23 |E - 8 BRaME=E xH 6 40 <6.02E-01 — —
24 |E - 9 Ha e XH 6 25 <6.02E-01 — -
25 |E - 10 HsE KFH 6 30 <6.02E-01 — —
26 |E — 11 s E KHF 6 35 <6.02E-01 — —
27 |E - 12 e = X 6 30 <6.02E-01 — —
28 |F - 6 = Kt 6 25 <6.02E-01 — —
29 |[F - 7 b A Xt 6 45 <6.02E-01 — —
30 |F - 8 A= KH 6 45 <6.02E-01 — —
a1 |G - 6 faSmE=E K 6 25 <6.02E-01 — —
32 (g - 7 = FFH 6 30 <6.02E-01 — —
3 |G - 8 RS = xKFH 6 30 <6.02E-01 — —
34 |G - 13 A= XH 6 25 <6.02E-01 — —
3 [H - 6 FR SN = KH 6 40 <6.02E-01 — —
36 [H - 7 AR E KH 6 25 <6.02E-01 — —
37 |H - 8 e i KH 6 25 <6.02E-01 — —
38 |H - 9 RSB E FFH 6 30 <6.02E-01 — —
39 |H - 10 TR E K 6 30 <6.02E-01 — -
40 |H - 11 S L E K 6 30 <6.02E-01 — -
41 |H - 12 AR E KH 6 15 <6.02E-01 — —
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No. [y IUFH HERAE No. [ Topml [Ba/om’] | BARE | B/ME
42 [H - 13 B =E It 6 25 <6.02E-01 — —
43 B - 6 TE SR 73 6 45 <6.02E-01 — —
44 [B ~ 7 S EmE £ 3 6 35 <6.02E-01 — —
45 |B - 8 MR R 6 35 <6.02E-01 — —
46 B - 9 R R 6 20 <6.02E-01 — —
47 [B - 10 HREE FR 8 35 <B.02E-01 — —
48 |B - 11 apn=s 73 6 35 <8.02E-0t — —
4 B - 12 mREE 73 8 20 <B.02E-01 — —
5 [C - & gk i [ 8 20 <6.02E-01 - —
5 {C - 7 fnm = & 8 45 <8.02E-01 — —
52 I1C - 8 fa s E EE 6 30 <6.02E-01 — -
53 |C ~ 9 Mol = B 6 35 <6.02E-01 - e
54 [C - 10 TR R RiRE IE 6 30 <6.02E-01 — —
55 ¢~ 11 = £ 3 6 25 <6.02E-01 — -
5 [C - 12 BRsmE F3 6 45 <6.02E-01 — —
57 [D - & R 73 6 40 <6.02E-01 — —
58 |D - 7 WaEEE FR 6 25 <6.02E-01 — —
59 |D - 8 s K 6 45 <6.02E-01 — —
60 (D - 9 Wmagh=E [k 6 35 <6.02E-01 — —
81 |b - 10 = [F3 [ 40 <6.02E-01 — —
62 [D - 11 oS = 23 6 50 <6.02E-01 — —
63 |D - 12 LRl =E IR 6 50 <6.02E-01 — —
64 [E ~ 6 mabm= B 6 25 <8.02E-01 — —
65 |[E — 7 FESERE K 6 40 <6.02E-01 — -
66 |[E - 8 fasiiE 73 6 5 <6.02E-01 - o
67 |[E - 9 HERAEIRE K 6 40 <6.02E-01 - -
68 [E ~ 10 T E F 6 45 <6.02E-01 - -
69 |[E - 11 o= FE 6 40 <6.02E-01 — —
70 [E ~ 12 BaR=E B 6 40 <6.02E-01 - -
71 |F - 8 WHaEnE E 6 25 <6.02E-01 — —
72 |F - 7 e K 6 40 <6.02E-01 — —
73 |F - 8 WBREEE EE 6 50 <6.02E-01 — —
74 |{F - 8 MR E [ 6 25 <6.02E-01 — —
75 |F - 10 fa = & 6 45 <6.02E-01 — —
76 iF - 11 Lk 73 6 60 <6.02E-01 — —
77 F - 12 wmREW=E 73 6 30 <6.02E-01 — —
781G - 6 fa s R E PR 6 20 <6.02E-01 — —
791G ~ 1 RREE IFS 6 40 <6.02E-01 s .
80 |G - 8 FERAEE K 6 50 <6.02E-01 - -
81 g - 9 EABHE # 6 60 <6.02E-01 - -
82 g - 10 ERmE 73 6 40 <6.02E-01 — —
83 |g - 1t HRAE * B 40 <6.02E-01 — —
84 |G - 12 WmaisE R 6 35 <6.02E-01 — —
85 |g - 13 Bz P 5 40 <6.90E-01 — —
86 |H - 6 WakEE 73 6 25 <6.02E-01 — —
87 |H - 7 HaEs B 6 35 <6.02E-01 — —
88 |H - 8 o= 73 6 40 <6.02E-01 — —
8¢ |H - 9 el PR 6 30 <6.02E-01 — —
90 [H - 10 W= FE 6 20 <6.02E-01 — —
91 |H - 11 e E [ 6 15 <6.02E-01 — —
92 |H — 12 e = 73 6 30 <6.02F-01 — —
93 |H - 13 e [ 6 30 <6.02E-01 — —
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iNo. EEAE TP P re o No, Topm] [Ba/om?] | AR | /A
9 |B - 6 BRSENE Bk 8 25 <6.02E-01 o —
95 (B - 6 A BEpg 6 25 <6.02E-01 — —
9% (B - 7 fass s BETY 6 30 <6.02E-01 - —
97 {B - 8 oS = o] 6 30 <6.02E-01 — —
98 [B - 9 R = BT 6 40 <6.02E-01 — -
99 |B - 10 RRMmE BET 6 30 <6.02E-01 — —
100 |B - 11 WS = BETY 6 30 <6.02E-01 — -
101 [B - 12 R E BETR 6 40 <6.02E-01 — —
102 [B - 12 fa S BiFg 8 35 <6.02E-01 — —
103 {C ~ 6 fHakim=E Bk 6 25 <6.02E-01 — —
104 [c - 12 wRiE B 5 45 <8.90E-01 — —
105 [D - 6 R E BEAL 6 25 <6.02E-01 — —
106 |D - 12 WEEEE BERg 5 40 <6.90E-01 — —
107 |[E - 8 RS Bt 6 35 <6.02E-01 - —
108 {E - 12 HMEHENE BEEg 6 20 <6.02E-01 - —
109 {F - 6 ek AL B2 6 35 <6.02E-01 - —
110 LF ~ 12 o= BEE 6 15 <6.02E-01 — —
11 ]G - 6 R = Bk 6 20 <6.02E-01 — -
121G - 13 o= BEY 6 35 <6.02E-01 — —
113 |g - 13 TR E ) 6 20 <6.02E-01 — -
114 [H — 6 mEE = B 6 30 <6.02F-01 — —
115 |H - 7 FE AR BT ) 25 <6.02E-01 — —
116 {H ~ 8 Hem=E BFEH 8 25 <6.02E-01 — —
117 |H - 9 HaskimE B 8 40 <6.02E-01 — —
118 [H - 10 HREmE BFE 6 50 <6.02E-01 — —
119 [H - {1 WnaEE BEET 6 20 <B.02E-01 — —
120 [H - 12 HrREEE BEER 6 30 <6.02E-01 — —
121 |H - 13 WaENE BT 6 35 <6.02E-01 — —
122 |H - 13 L B 6 20 <6.02E-01 — —
123]B - & BREmE wmMITL—ILLE] 6 30 <6.02E-01 — —
124{B - 7 ek AL E o HATL—ILE| 6 35 <6.02E-01 — —
125 |B - 8 fo = HITL—ILE| 6 20 <8.02E-01 — —
126 |B - 9 ki e HATL—ILE] 6 20 <6.02E-01 - —
127 1B - 10 o= WEITL—LE] 6 30 <6.02E-01 — -
128 |B - 11 bk HALTL—E] 6 30 <6.02E-01 e -
129 |B — 12 WHma= HHELTL—E] 6 25 <6.02E-01 — —
130 |[C - 6 fha = HEITL—IVE] 6 40 <6.02E-01 — -
131 |C - 7 TESHEE HIEITL—ILE] 6 45 <6.02F-01 — —
132 |c - 8 HasmE HMITL—ILE] 6 a5 <6.02E-01 — —
133Cc - 9 HaimE BHATL—ILE] 6 30 <6.02E-01 — —
134 |Cc - 10 MR HEATL—v | 6 35 <6.02E-01 — —
135 |G - 1t fa S A HHETL—ILE| 6 30 <6.02E-01 — —
136 |D - 8 HasE HWHITL—ILE| 6 50 <6.02E-01 — —
137 [D - 11 faspEmE wWHETL—ILE] 6 25 <6.02E-01 - —
138 |D ~ 12 iy e wWAEITL—ILE] 8 35 <6.02E-01 - —
130 |E - 6 tasaE W|EITL—ILE] 6 35 <6.02E-01 - —
140 |[E - 7 e e e WAL —IE| 6 45 <8.02E-01 — —
141 |E - 8 HaEsN=E WAL —ILE] 6 35 ¢6.02E-01 —_ -
142 |F - 6 HRaE= HAITL—ILE] 8 35 <6.02E-01 — —
143 {F - 7 = BRELTL—IILE] 6 30 <6.02E-01 — -
144 |F - 12 M= HATL—ILEl 6 25 <B.02E-01 — —
145G - 6 R = HILTL—ILE| 6 40 <6.02E-01 — —
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No. | BB T MEARAY | No” [ Topm] | [Bo/om] | KM | BUDE
146 |G - 7 oS A HRELTL—ILLE] 6 25 <6.02E-01 — —
147 1G - 8 HLRiEmE HWAITL—IE|l 6 30 <6.02E-01 - e
148 |G - 10 RS ERAIIARE| 6 15 <6.02E-01 — -
149 |G - 10 e A= EEBS I | 6 30 $6.02E-01 — s
50 |6 - 11 Hash= EREAIEARE| 6 30 <6.02E-01 — -
151 |G — 12 Wasin=E ERMCH IR 6 40 <6.02E-01 — —
152 |G - 13 L e ERYINEE ] 6 30 <6.02E-01 — —
153 |G ~ 8 = EEAIMEE ] 6 25 <6.02E-01 — -
54 |lg - 8 Rk L RESIMEECLE | 6 40 <6.02E-01 - —
155 |G - 9 AR E EEEATIE] 6 20 <B.02E-01 — —
156 |E - 12 s = MR TIEENY] 6 40 <6.02E-01 - —
157 (D - 8 s = | N 6 40 <6.02E-01 — —
158 {D - 8 R E EEBAKREA~] 6 30 <6.02E-01 — —
15¢ {B -~ 10 fa SRk A Fo—EBIE| 6 25 <6.02E-01 — —
160 iB - 10 R Fo—SEBTE| 6 20 <6.02E-01 — e
161 |B —- 10 e B A—HBHE| 6 25 <6.02E-01 — —
162 |B — 10 AR = Fu—HSBW®E| 6 20 <B.02E-01 — o
163 |C - 10 A E Ko 6 a0 <6.02E-01 — —
164 [Cc - 10 HEERE KD | 6 25 <6.02E-01 — —
165 [ - 11 HwagEE=E REBARCT-4-EF| 6 20 <6.02E-0f — —
166 |{C - 12 HoEmE EEMCEE~| 6 35 <6.02E-01 — —
167 [c - 12 HaE ERMCESR | 6 25 <6.02E-01 . —
168 |D - 11 W= KA OMEM 6 30 <6.02E-01 — —
169 [D - 11 WaE gHRMIbERY]| 6 25 <6.02E-01 - —
170 |D - 11 HREAE EERMBE—4—H] 6 20 <6.02E-01 — —
171 D - 11 R EmE ERBAE—2—1] 6 30 <6.02E-01 — —
172 |D - 12 AU HEEBEAX IR 6 40 <6.02E-01 — —
173 |D - 12 mEEE EREBEAEA~] 6 15 <6.02E-01 — —
174 |D - 12 S ERMEBA U] 6 25 <6.02E-01 — -
175 |E ~ 10 HRMENE KEVLEDIE] 6 25 <6.02E-01 — -
176 |E - 10 bkl L AEOLEE | 6 15 <6.026-01 — -
177 1F — 7 BEss ﬁ”fﬁfﬁﬁ%ﬂ@w 6 25 | <602E01 [ ~— —
178 1F - 8 BEteE $fﬁ%§f§@ﬁ§ 6 30 | <602E-01 | -— —
179 |F - 8 Wiz HHEMALE | 6 15 <6.02E-01 — -
180 |F - 9 HasmE ERHEATEE | 6 45 <6.02E-01 — —
181 |F - 10 M= AEEAEDdEE | 6 15 <6.02E-01 — —
182 | F - 11 WA=z ERMEBTEE | 6 20 <6.02E-01 e —
183 |F - 11 RS EmAgCImEm | 6 40 <6.02E-01 — —
184 [F - 12 R e ERHECHETE | 6 25 <6.02E-01 - —
185 |H - 8 faRtEEE ERAIKRE| 6 40 <6.02E-01 — —
186 [H - & mREE BRFOLRE|] 6 30 <6.02E-01 — —
187 |H - 10 s ERAINEKE] 6 25 <6.02E-01 — —
188 [H ~ 11 SR ERFOMEE| 8 40 <6.02E-01 — -
189 [H - 12 Fa S b= ERAINEE| 6 15 <6.02F-01 — —
190 {H -~ 13 = ERAIEEE| 6 a5 <6.02E-01 — —
191 {¢ - 7 HEMEE HEELBBA HA O 6 25 <6.02E-01 — —
192 |¢ - 7 WHa=E BEEA hIEo 6 30 <6.02E-0t — .
193 |c - 7 o= HBERA T2 6 45 <6.02E-01 — —
194 {C - 8 WHa = HEigB HAO 6 25 <6.02E-01 — —
195 |c - 8 Wi HE®S T2 6 35 <6.02E-01 — —
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No. | MHEIE TUYT4 AR " ool | [Ba/om?] | Bkl | BB

196 |c - 9 MR RmE Hmigc =AM 6 15 <6.02E-01 —
197 |c - 9 SR gEMc hissr| 6 25 <6.02E-01 - —
198 [F - 11 LRz &L 6 35 <6.02E-01 — —
199 |F - 11 HENE BT 6 40 <6.02E-01 — —
200 |F - 12 HLad=E BiELE 6 30 <6.02E-01 — —
200 |F - 12 R BIET 6 50 <6.02E-01 — —
202 [G - 11 B Bt 6 35 <B.02E-01 — -
203 |G - 11 R BET 6 20 <6.02E-01 — o
204 1 — 12 RN =E EigE 6 20 <6.02E-01 — -
205 {G - 12 HMamE BIHT 6 45 <6.02E-01 — o
206 [H ~ 8 M= NILT BE | 6 20 <6.02E-01 — —
207 {F - 9 R 2L 6 30 <6.02E-01 — —
208 {F - 9 RS E BET 6 25 <6.02E-01 — —
209 [F - 10 MR iRmE 25k 6 25 <6.02E-01 — —
210 |F - 10 btk LA BT 6 40 <6.02E-01 — —
211 {Gg - 9 et TiEE 6 20 <6.02E-01 — —
212 1G - 9 HBasHE BIET 6 20 <6.02E-01 - —
213 1G - 10 HRElE=E BBk 6 30 <6.02E-01 — —
214 |G - 10 HRmmE BETF 6 20 <6.02E-01 — -
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E % 4 4 1F BERMFR B OkRGe - 24 - — <A %5 (H27) RWAE & B150W0
EZESGT BERIF 3FL BEEB|O v WAI7 0O Ak
(,{;ﬁ%‘g%) T AR 1 WIES | KES R
RETGYREE
I E B B ERk2THE11 824 H 1485 0043~ X4 X 4y B e e I
_y ] A=A —L NO5T
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No. FEAE IYTH HIERAE No. | Teopm] [Ba/om?] | BAIE | B/ME
1 (g - 1 ML T X 5 35 <6.90E-01 — —
2 [H - 1 3MEALER T KH 5 25 <6.90E-01 — —
3 |1 - i 3MEALERF X 5 40 <6.90E-01 - —
4 [J -1 SMEALER T KFH 5 30 <6.90E-01 — —
5 [K - 1 EALER T KIF 5 30 <6.90E-01 — —
6 |L - 1 3fEALER T KIH 5 35 <6.90E-01 — —
7 M - 1 3FEALIER T *3F 5 20 <6.90E-01 — —
8 IN - 1 AR T xH 5 30 <6.90E-01 — —
9 |lo - 1 3FEALIER T xH 5 10 <6.90E-01 — —
10 |P - 1 3FEILEE T xHF 5 30 <6.90E-01 — —
11 |g - 1 AMEALERT BETH 5 25 <6.90E-01 — —
12 |g - 1 MEALER T Bk 5 40 <6.90E-01 — —
13 |H - 1 EEALER T Bl 5 30 <6.90E-01 — —
14 |H - 1 EEALER T BER 5 20 <6.90E-01 — —
15 [1 - 1 3PEILER T B 5 30 <6.90E-01 — —
16 [1 - 1 3fEALER T BERY 5 25 <6.90E-01 — —
17 |4 - 1 3FEILEE T BEL 5 30 <6.90E-01 — —
18 [J - 1 3MEALER T Gige) 5 25 <6.90E-01 — —
19 |K - 1 3EALER T =54 5 30 <6.90E-01 - —
20 |K - 1 3FEALER T BER 5 20 <6.90E-01 - —
21 |L - 3fEALER T =3[F 5 30 <6.90E-01 — —
22 L - 1 ML T By 5 20 <6.90E-01 — —
23 |M - 1 MG T EE it 5 35 <6.90E-01 — —
24 M - 1 SFEALIER T BEm 5 45 <6.90E-01 — —
25 |N — 1 3FEALEE T Bk 5 20 <6.90E-01 — —
26 [N - 1 PSR T BEFg 5 30 <6.90E-01 — —
27 o - 1 AL T Bt 5 40 <6.90E-01 — —
28 lo - 1 IPEALERTF BT 5 25 <6.90E-01 — —
29 |P - 1 3[EALER T Eip 5 25 <6.90E-01 — —
30 |p - 1 3PEIEEE T BEET 5 35 <6.90E-01 — -
31 [P - 1 3PEALER T BRI 5 25 <6.90E-01 — —
32 (g - 1 3EALER T R 5 40 <6.90E-01 — —
33 |[H - 1 3PEILER T P 5 30 <6.90E-01 — —
34 [1 - 1 3FEALER T IF3 5 30 <6.90E-01 — -
35 [J - 1 AL T 73 5 50 <6.90E-01 — —
36 |K - 1 AL T F3 5 40 <6.90E-01 — -
37 [L - 1 3MELIER T 73 5 35 <6.90E-01 — —
38 (M - 1 3MEILER T PR (AE) 5 30- <6.90E-01 — —
39 |M - 1 EEILER T FR () 5 30 <6.90E-01 - —
40 (M - 1 WAL R (74) 5 40 <6.90E-01 — —
41 [N - 1 MEALIER T 3 5 25 <6.90E-01 — -
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No. | EBiE IYFH AERAVE [P foom] | [oa/ond] | BARE | BNE
42 1o - 1 3L T 73 5 35 <6.90E-01 - —
423 |P - 1 IFEILERT [ 5 35 <6.90E-01 — —
a4 |H -~ 1 LT HER 5 30 <8.80E-01 — —
45 [N - 1 SFEALER T R 5 30 <6.90E-01 — —
46 [H -~ 1 IR T HATL—ILED 5 25 <8.90E-01 - —
47 11 - 1 AL T BAITL—ILE] 5 40 <6.90E-01 — —
48 | J - 3PEdEERF #HRATL—IE] 5 25 <8.90E-01 - —
49 |K - 1 3MEALEE T BYEATL—IE] 5 30 <6.90E-01 — —
50 L - 3EALER T HAITL— N E] 5 40 <6.90E-01 — —-
51 M - 1 3EALERF BHAEITL—ILE|l 5 35 <6.90E-0t — —
52 [N - 1 3EEILERT HIETL—E] 5 30 <B.90E-01 - -
53 [0 - 1 G T WHAATL—ILEl 5 30 <6.90F-01 — —
54 |p - 1 LT HAETL—ILE] 5 20 <6.90E-01 — —
55 - 3MEEV B 5 35 <6.90F-01 — —
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(=220 BEHIP IR R 3FL HWEEE| O W A3y O #&b
W R S
piiet A BRI — A R | RIS
KETE Y
HIE 7R TRE2TEE11 A 241 148% 0045~ ERnARE ey Bt 5 X I
- _ _ J | CHS—A—L N95TAY
LEIJ}]:% | I l lwﬁ%é{x'ﬂ%— -:(,L.i%:g
m . gramAso  [WER| REGREE  |[REZER(4Svh]
No. | [E4Z IYT4 AERAE |7 o] | [Ba/ond] X | BINE
1 |[D - 2 SFEFEER T *FF 5 50 <6.90E-01 — —
2 |[E - 2 IMEFEER T X 5 25 <6.90E-01 — —
3 |F - 2 RIETE FH 5 30 <6.90E-01 — —
4 g - 2 TR T KH 5 40 <6.90E-01 — —
5 |H - 2 MR T KH 5 15 <6.90E-01 — —
6 |H - 3 MR T xH 5 30 <6.90E-01 — —
7 |H - 4 ST T KH 5 25 <6.90E-01 — —
8 |D - 2 EFEER T & (BR) 5 25 <6.90E-01 — —
9 |[Dp - 2 SFETHEE T & (At 76) 5 30 <6.90E-01 — —
i0 [D - 2 SMEFER T F D) 5 30 <6.80E-01 — —
11 [E - 2 SMEVEER T 7S 5 25 <6.90E-01 — —
12 |F - 2 3FETHER T & 5 30 <6.90E-01 - —
13 |g - 2 3MEPEER T 73 5 30 <6.90E-01 — —
14 [H - 2 SFEFEER T 3 5 25 <6.90E-01 — —
15 |H - 3 IMETEER T 73 5 20 <6.90E-01 — —
16 |H - 4 MEFEE T 3 5 35 <6.90E-01 — —
17 |[D - 2 3[EFEE T Bk 5 35 <6.90E-01 — —
18 [D - 2 MR T ] 5 30 <6.90E-01 — —
19 |D - 2 METEER T BERY 5 25 <6.90E-01 — —
20 [E - 2 TR T Bt 5 20 <6.90E-01 — —
21 |E - 2 METEER T BER 5 30 <6.90F-01 — —
22 |F - 2 IEFEEE T Bt 5 30 <6.90E-01 — —
23 |[F - 2 TR T BEE 5 20 <6.90E-01 — —
24 |g - 1 3FETEER T B2l 5 35 <6.90E-01 — -
25 |G - 1 TR T BE G 5 20 <6.90E-01 - —
26 |G - 2 SFEPHER T B 5 25 <6.90E-01 — —
2] (g - 2 KT RS BEE 5 20 <6.90E-01 — —
28 |H - 2 3FEFEER T EEEL 5 45 <6.90E-01 — —
29 |H - 3 SFEFEER T BEY 5 25 <6.90E-01 — —
30 |H - 3 3FEFEER T BEER 5 15 <6.90E-01 — —
31 |[H - 4 IFETEE T BE Y 5 25 <6.90E-01 — —
32 [H - 4 IMETEER T EEEY 5 35 <6.90E-01 — —
33 |H - 4 PEFEI T BER 5 25 <6.90E-01 — —
34 [H - 2 TR T wAATL—ILE] 5 35 <6.90E-01 — —
35 |[H - 3 SMETEERT BWETL—ILE] 5 35 <6.90E-01 — —
36 |[H - 4 SRR T wmMATL—ILE[] 5 50 <6.90E-01 — —
—
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No. g e ITY74 BEARA No. | Topm] [Ba/om’] | BAIE | B/ME
1T [P - 1 FlHFHEE EH# 6 25 <6.02E-01 — —
2 |la - 1 FlaREE xH 6 25 <6.02E-01 — —
3 |[R - 1 FiEREE KH 6 25 <6.02E-01 — —
4 [s - 1 FlirHEEE K i 40 <6.02E-01 — —
5 |T - 1 FliaRkE= XH 6 30 <6.02E-01 — —
6 |P - 2 FliaREE XIF 6 20 <6.02E-01 — —
7 |la - 2 FliaREE KH 6 30 <6.02E-01 — —
8 |R - 2 FlaHEE XH* 6 45 <6.02E-01 — —
9 [s - 2 FlHREE KH 6 40 <6.02E-01 — —
10 (7T - 2 FlaFHEE K 6 20 <6.02E-01 — —
11 [P - 1 FEHRE=E B b 6 30 <6.02E-01 — —
12 [P - 1 FlaFREE i) 6 20 <6.02E-01 — —
13 [P - 2 FliEHREE EETY 6 30 <6.02E-01 — —
14 |p - 2 FimFEE BER 6 20 <6.02E-01 — —
i5 [@ - 1 FliEHEE Bt 6 30 <6.02E-01 — —
16 Q@ - 2 FlRFHEE BEFg 6 35 <6.02E-01 — —
17 |[R - FimFEEE BE b 6 35 <6.02E-01 — —
18 |R - 2 FiEFEE BERg 6 35 <6.02E-01 — —
19 |s - 1 FleFEEE Bt 6 30 <6.02E—01 — —
20 |S - 2 FlieHkE= BER 6 30 <6.02E-01 — —
2 |T - 1 FliaREE Bt B 40 <6.02E-01 — —
22 [T - 1 FliaRE= BEER 6 25 <6.02E-01 — —
23 |T - 2 FlaRE=s BEER 6 20 <6.02E-01 — —
24 [T - 2 FlREE BEEg 6 30 <6.02E-01 — —
25 [P - 1 FlaFREE 73 6 30 <6.02E-01 — —
26 [P - 2 FlHREE TR 6 25 <6.02E-01 — —
27 @ - 1 Pl EE R 6 25 <6.02E-01 — —
28 (@ - 2 FlaFEEE R 6 40 <6.02E-01 — —
29 |[R - 1 FlnFE=E FE 6 35 <6.02E-01 — —
30 (R - 2 FlaRBE 73 6 30 <6.02E-01 — —
31 |8 - 1 FliafER PR 6 15 <6.02E-01 — —
32 |s - 2 FlaHREE Bk 6 35 <6.02E-01 — —
33 |T - | FliaFEE R 6 45 <6.02E-01 — —
34 [T - 2 FiaFEE & 6 25 <6.02E-01 — —
3BT — FlEHBE H N 6 30 <6.02E-01 — -
36 [T - 1 FlaFEE Ak 6 20 <6.02E-01 — —
37 [P - 1 FiEHAEE SHER 6 20 <6.02E-01 — —
38 [s - 2 FlaFREE HERe 6 45 <6.02E-01 — —
39 |p - 2 FiEAEE HeaR iy 6 35 <6.02E-01 — —
40 Q@ - 2 FlaFREE ] 6 15 <6.02E-01 — —
4 Q@ - 2 FiEFEEE e 6 30 <6.02E-01 — —
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No. | EE4E IYTFH BERA |5 o] | [Ba/on?] | BAlE | BDE
42 |7 - 2 FiEREE BiRE 8 45 <6.02E-01 — —
43 |s - 1 FlEHEE BRE 8 30 <6.02E-01 — —
4 |R - 2 FliHAEBE Hasdk 6 25 <6.02E-01 — —
4 |R - 2 Pl EE ] 6 30 <6.02E-01 — —
46 |5 - 2 FlaFHEE Bt 6 20 <6.02E-01 e —
47 |p - 2 FlRFtEE ] ) 20 <6.02E-01 — —
48 15 - 2 FlEREE Has R 6 40 <6.02E-01 - —
49 g - 2 FiEEBE MR 6 25 <B.02E-01 — —
50 [p - 2 FlagER s 6 25 <6.02E-01 - -
51 [R - 2 FliaREE s 6 30 <6.02E-01 — —
52 [T - 1 FIRAERE kRS 6 30 <6.02E-01 — -
53 |[p ~ 2 FlHERE RERF/A—] 6 35 <6.02E-01 — —

/
/.




B R

Ao %

(1 /7 2)
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No. | FHEfE Y7 MER L |HER - =
o | 17 A O Toom] | [Bo/om?] | BKIE | B/ME
1 |L - 2 FAREEEE 1FLD 6 35 <6.02E-01 — —
2 |k - 2 EARSERE 1FL®) 6 15 <6.02E-01 - —
3 |L - 2 FAMERE 1FL®) 6 30 <6.02E-01 — —
4 M - 2 EAMSERE 1FL@ 6 20 <6.02E-01 — —
5 |L - 2 FAMEERE 1FL®) 6 30 <6.02E-01 — —
6 |K - 2 FAMSERE 1FL® 8 30 <6.02E-01 — —
7 L - 2 FAPRERE 1FL®) 6 25 <6.02E-01 — —
8 [M - 2 FEARERE 1FL® 6 30 <6.02E-01 — —
9 |L - 2 FARSER = 1FLO 6 20 <6.02E-01 — —
10 | K - 2 FARBEE 1FLAD 6 20 <6.02E-01 — —
11 |L - 2 FARERE 1FLAD 6 35 <6.02E-01 — —
12 |M - 2 BAMEE 1FL{D 6 25 <6.02E-01 — —
13 |L - 2 EARERE 1FLGD 6 35 <6.02E-01 — —
14 [K - 2 BAMEE 1FLED 6 30 <6.02E-01 — —
15 |L - 2 EAREER = 1FLGD 6 15 <6.02E-01 — —
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